## कार्यालय सहायक आयुक्त देवस्थान विभाग, उदयपुर

पता-सूरजपोल उदयपुर, ई-मेल- ac.udaipur.dev@rajasthan.gov.in, Ph. 0294-2420546

क्रमांक :एफ3( 15 )लेखा / देव / उदय / 2023 / 482

दिनांक: -22.02.2024

#### ई निविदा सूचना संख्या -12/2023-24

राजस्थान के राज्यपाल महोदय की ओर से देवस्थान विभाग द्वारा प्रबंधित एवं नियंत्रित राजसमन्द जिले के राजकीय प्रत्यक्ष प्रभार श्रेणी के 04, राजकीय आत्मिनर्भर श्रेणी 03, उदयपुर जिले के राजकीय प्रत्यक्ष प्रभार श्रेणी के 15, राजकीय आत्मिनर्भर श्रेणी के 08 एवं जिला चित्तौडगढ जिले के राजकीय प्रत्यक्ष प्रभार श्रेणी के 03, कुल 33 मंदिरान् में साधारण मरम्मत/जीर्णोद्धार एवं रंग—रोगन कार्यों के लिये राजस्थान सरकार के लिए ''एए'' 'ए' 'बी' 'सी' एवं 'डी' श्रेणी के पंजीकृत संवेदकों से अथवा राजस्थान सरकार के निगम/बोर्ड आदि में समकक्ष श्रेणी में पंजीकृत संवेदकों के समकक्ष हो से निर्धारित प्रपन्न में ई—टेण्डरिंग प्रकिया द्वारा ऑनलाईन निविदाएँ आमंत्रित की जाती है।

निविदा से संबंधित विवरण वेबसाईट devasthan. rajasthan .gov.in, eproc. rajasthan.gov.in तथा http://sppp.rajasthan.gov.in पर देखा जा सकता है

shehm shehmanas	
ऑन लाईन निविदा फार्म मिलने की	27.02.2024 प्रातः 11.00 बजे से
दिनांक व समय	07.03.2024 प्रातः 11.00 बजे तक
ऑन लाईन निविदा फार्म जमा कराने की	07.03.2024 दोपहर 1.00 बजे तक
अन्तिम दिनांक ( वेबसाईट पर )	
निविदा शुल्क / धरोहर राशि एम.डी.	दिनांक 07.03.2024 सायंकाल 06.00 बजे
आर.आई एस एल शुल्क डी डी जमा	तक कार्यालय <b>सहायक आयुक्त, देवस्थान</b>
कराने की दिनांक व समय	विभाग, उदयपुर
निविदा खोलने की तारीख	दिनांक 11.03.2024 दोपहर 12.30 बजे से

क स	कार्य का नाम	अनुमानित लागत ( रूपयें)	धरोहर राशि ( रूपयें)	निविदा प्रपत्र शुल्क राशि	एम डी आर आई एस एल शुल्क	कार्य पूर्ण करने की अवधि
1	2	3	4	5	.6	7
1	राजकीय प्रत्यक्ष प्रभार श्रेणी के 04, राजकीय आत्मनिर्भर	27,06,741/-	54200/-	1000/-	1000/-	2 Months
	श्रेणी 03, उदयपुर जिले के राजकीय प्रत्यक्ष प्रभार श्रेणी के 15, राजकीय आत्मनिर्भर श्रेणी के 08 एवं जिला					
. "	त्रिणा क 08 एव जिला चित्तौडगढ जिले के राजकीय प्रत्यक्ष प्रभार श्रेणी के 03, कुल 33 मंदिरान् में साधारण	, ,	7			
,	मरम्मत / जीर्णोद्धार एवं रंग-रोगन कार्य।			p		2 II

UBN-DEV 2324 WSOB 00136

निविदा प्रपत्रों को वेबसाईट htpp:// eproc.rajasthan.gov.in पर से डाउनलोड किया जा सकता है। इन निविदाओं में भाग लेने वाले संवेदक निविदा के इलेक्ट्रोनिक फारमेट मे वेबसाईट htpp:// eproc.rajasthan.gov.in पर जमा कराएं।

- 1 यह मंदिर विभाग द्वारा प्रबंधित एवं नियंत्रित राजकीय प्रत्यक्ष प्रभार एवं आत्म निर्भर श्रेणी के होकर उदयपुर ,राजसमन्द, एवं चित्तौडगढ जिले के अलग—अलग स्थानों पर स्थित है, जिन पर व्यय किये जाने का विवरण निम्नानुसार हैं।
  - (A) जिला राजसमंद स्थित राजकीय प्रत्यक्ष प्रभार मंदिरान में करवाये जाने वाले रंग—रोगन एवं मरम्मत कार्य की सूची—

क्र.स.	कार्य का नाम	अनुमानित व्यय राशि
		3
1	2 मं.श्री चतुर्भुज जी, ग्राम धनेरिया गढ त. रेलमगरा जिला राजसमंद में साधारण	70020/
1	म.श्री चतुर्भुज जा, ग्राम धनारया गढ त. रलनगरा जिला राजरा राजरा राजरा	78030/-
_	मरम्मत कार्य एवं रंग–रोगन कार्य।	
2	मं.श्री चतुर्भज जी, सदर बाजार राजसमन्द में साधारण मरम्मत कार्य एवं	78030/-
2	रंग-रोगन कार्य।	
	मं.श्री गणेश जी, नव चौकियो के रास्ते में साधारण मरम्मत कार्य एवं रंग-रोगन	79330/-
3	कार्य ।	
	महादेव जी धनेश्वर जी, नव चौकियो के रास्ते में राजसमन्द में साधारण	92620/-
4	मरम्मत कार्य एवं रंग–रोगन कार्य।	32020,
	योग:-	328010/-
	41.11	

(B)जिला राजसमंद स्थित राजकीय आत्मनिर्भर मंदिरान में करवाये जाने वाले रंग—रोगन एवं मरम्मत कार्य की सूची—

क्र.स.	कार्य का नाम	अनुमानित व्यय राशि
	2	3
1		77467/-
1	मंदिर श्री चारभुजाजी गढबोर जिला राजसमंद राज.	1
2	मंदिर श्री गोपेश्वर महादेव जी केलवाडा जिला राजसमंद	91524/-
3	मंदिर श्री रूपनारायण जी सेवंत्री जिला राजसमंद राज.	79300/-
3		240204/
	योग:-	248291/-
		•



(C) जिला उदयपुर स्थित राजकीय प्रत्यक्ष प्रभार मंदिरान में करवाये जाने वाले रंग-रागन एवं मरम्मत कार्य की सूची-

क्र.स.	कार्य का नाम	अनुमानित व्यय शशि
1	2	3
1	मं.श्री नवलखा हनुमान जी, गुलाव वाग उदयपुर।	81940/-
2	मं.श्री कालका माता जी मोर दाता जी (पहाड़ पर )उदयपुर।	81940/-
3	मं.श्री बाण नाथ जी बागोर की हवेली उदयपुर।	81940/-
4	मंदिर श्री धनेश्वर जी पांच महादेव गणगोर घाट उदयपुर।	81940/-
5	मं.श्री माता जी विद्या जी चॉदपोल उदयपुर।	81940/-
6	मं.श्री मंशाापूर्ण गणेश जी जगदीश चौक उदयपुर।	81940/-
7	मं.श्री चौमुखा महादेव जी आसीन्द की हवेली के पास उदयपुर।	81940/-
8	मं.श्री ठाकुर स्वरूप सहाय जी कंवर पदा का महल, उदयपुर।	21940/-
9	मं.श्री माता जी कंवर पदा का महल उदयपुर।	21940/-
10	मं.श्री अन्नपूर्णा जी घंटा घर पुलिस थाना उदयपुर।	21940/-
11	मं.श्री ठाकुर जी (बाई चन्द्र प्रभा जी) खेरादीवाड़ा	21940/-
12	मं.श्री रामचन्द्र जी (रामलक्ष्मण) जी घाणेराव घाटी	81940/-
13	मं.श्री बालाजी गोवर्धन विलास	81940/-
14	मं.श्री बरबड़िया महादेव वांकी का मंगरा	81940/-
15	मं.श्री माता जी शेषाम्बाव जी ग्राम नाई त. गिर्वा	81940/-
	योग:-	1229100/-

(D) जिला उदयपुर स्थित राजकीय प्रत्यक्ष प्रभार मंदिरान में करवाये जाने वाले रंग—रोगन एवं मरम्मत कार्य की सूची—

क्र.स.	कार्य का नाम	अनुमानित व्यय राशि
	2	3
1	मं0 श्री गुलाब स्वरुप बिहारी जी, सीटी पैलेस रोड उदयपुर।	81940/-
2	मं० श्री सदर गणेश जी , कचहरी सीटी पैलेस उदयपुर।	81940/-
	मं० श्री लक्ष्मीनारायण जी, नानीगली उदयपुर।	81940/-
3		81940/-
4	मं० श्री उदयश्याम जी, उदयसागर उदयपुर।	81940/-
5	मं० श्री नाई माता जी ग्राम नाई उदयपुर।	81940/-
6	मं० श्री तेजानन्द बिहारी जी सलुम्यर उदयपुर।	
7	मं० श्री शीतलामाता जी वल्लभनगर उदयपुर।	81940/-
	मं० श्री चतुर्भुज जी भटेवर उदयपुर।	81940/-
8	में। भी भी चतुर्नुज जो नेटवर उपवर्दुरा	655520/-



(E) जिला चितौडगढ स्थित राजकीय प्रत्यक्ष प्रभार मंदिरान में करवाये जाने वाले रंग—रोगन एवं मरम्मत कार्य की सूची—

9/15	पि भूपा-	
क्र.स.	कार्य का नाम	अनुमानित व्यय राशि
1	2	3
1	मं.श्री गणेश जी व हनुमान जी ग्राम जाशमा	81940/-
1		01040/
2	मं.श्री चतुर्भुज जी सदर बाजार ग्राम आकोला	81940/-
3	मं.श्री लक्ष्मीनारायण जी ग्राम भदेसर	81940/-
-	योगः—	245820/-
	महायोग:— (A+B+C+D+E)	2706741/-

प्रत्येक मंदिर में किये जाने वाले कार्यो की ''जी शिड्यूल'' अलग-अलग होकर निविदा प्रपत्र के साथ संलग्न है। संवेदक को ''जी शिड्यूल'' में अंकित कार्य अनुसार ही मरम्मत कार्य करवाया जाना है।

3 निविदा हेतु पात्र संवेदकों की श्रेणी

किसी भी सीमा तक - एए श्रेणी संवेदक ए श्रेणी संवेदक ए श्रेणी संवेदक ए श्रेणी संवेदक चि श्रेणी संवेदक ची श्रेणी संवेदक ची श्रेणी संवेदक कपये 50 लाख तक - सी श्रेणी संवेदक ची श्रेणी संवेदक ची श्रेणी संवेदक ची श्रेणी संवेदक ची श्रेणी संवेदक

4 धरोहर राशि निविदा प्रपत्र में दर्शाई गई कुल अनुमानित लागत की 2 प्रतिशत होगी जो नियमानुसार सहायक आयुक्त देवस्थान विभाग उदयपुर के नाम देय होगी।

5 निविदा प्रपत्रों हेतु आवेदन / डाउनलोड की अवधि दिनांक 27.02.2024 प्रातः 11.00 बजे से दिनांक 07.03.2024 प्रातः 11.00 बजे तक होगी।

- 5(अ) निविदा प्रपत्र इलेक्ट्रोनिक फॉरमेट में बेवसाई htpp:// eproc.rajasthan.gov.in पर दिनांक 27.02.2024 प्रातः 11.00 .बजे से दिनांक 07.03.2024 दोपहर 1.00 बजे तक जमा कराये जा सकते है। प्राप्त निविदायें, इलेक्ट्रानिक फारॅमेट में बेवसाईट htpp:// eproc.rajasthan.gov.in पर सहायक आयुक्त कार्यालय में दिनांक 11.03.2024 को अपरान्ह 12.30 बजे खोली जायेगी। यदि किसी कारणवश उस दिन अवकाश रहता है तो अगले दिन उसी समय व उसी स्थान पर निविदायें खोली जाएगी।
- 5(ब) निविदा जमा करवाने के बाद निविदा की समस्त प्रकिया ऑन लाईन होगी।
- 5(स) निविदा खोलने की तिथि को किसी कारण वश यदि निविदायें नहीं खोली जा सकती है, तो उसके अगले कार्य दिवस प्राप्त निविदाऐं खोलने का कार्य जारी रखा जावेगा।
- 6 कार्य करने हेतु कार्यस्थल उपलब्ध है।
- 7 कार्यों के सम्मुख उपरोक्तानुसार वर्णित कार्यालय में संवेदक द्वारा दिनांक 27.02.2024 प्रातः 11.00 बजे से दिनांक 07.03.2024 दोपहर 1.00 बजे तक किसी भी कार्य दिवस में निविदा प्रपत्र को देखा जा सकता है अथवा htpp:// eproc.rajasthan.gov.पर भी देखा जा सकता है। निविदा प्रपत्रों में निविदाकर्ता के लिए योग्यता सूचना तथा निविदाकर्ता की पात्रता प्लान, स्पेसिफिकेशन, ड्राईंग विभिन्न कार्यों की मात्रा एवं दरों का विवरण नियम शर्ते एव अन्य विवरण वर्णित है।

- निविदादाता द्वारा निविदा शुल्क / धरोहर राशि के डिमाण्ड ड्राफट अथवा निविदा प्रपत्रों में वर्णित किसी प्रकार के रूप में शुल्क इस कार्यालय में दिनांक 07.03.2024 को सायंकाल 6.00 यजे तक जमा कराना आवश्यक है। निविदा शुल्क तथा धरोहर राशि के डिमाण्ड ड्राफट सहायक आयुक्त, देवस्थान विभाग, उदयपुर में जमा करानी होगी। लिफाफे के उपर कार्य का नाम लिखना आवश्यक होगा।
- निविदा खोलने की दिनांक से 90 दिवसों तक निविदा स्वीकृति हेतु मान्य (Open) रहेगी। यदि 9 निविदाकर्ता उस अवधि में अपनी निविदा अथवा शर्तों में किसी प्रकार का संशोधन करता है अथवा अपनी निविदा पापस ले लेता है, तो उसकी धरोहर राशि जब्त कर ली जावेगी।
- यदि संवेदक का नजदीकी रिश्तेदार (प्रथम रक्त संबंध व उनके पति / पत्नि) कार्य से संवंधित वृत्त 10 अथवा अधीनस्थ कर्या में खण्डीय लेखाकार अथवा सहायक आयुक्त/सहायक अभियन्ता का किसी भी स्तर पर पदस्थापित हो तो उसके कार्य पर नियुक्त करने पर प्रतिबन्ध रहेगा।
- राज्य सरकार में किसी भी अभियांत्रिकी विभाग में किसी भी इंजीनियर अथवा इंजीनियरिंग या 11 प्रशासनिक कार्य पर नियुक्त राजपत्रित अधिकारी राज्य सरकार की अनुमति के बिना सेवा निवृति के 2 वर्ष तक संवेदक अथवा उसके कर्मचारी के रूप में कार्य नहीं कर सकेगें। यदि संवेदक व उसके कर्मचारियों में कोई ऐसा व्यक्ति जिसने राज्य सरकार की उक्त लिखित अनुमित निविदा जमा कराने से पहले अथवा संवेदक के यहाँ सेवाएं लेने से पहले अनुमित नहीं ली है तो अनुबन्ध रद्द किया जा सकेगा।
- निविदादाता इन प्रपत्रों को (Download) कर सकते है। निविदादाता द्वारा निविदा शुल्क नकद अथवा 12 डिमाण्ड ड्राफट के रूप में संबंधित कार्यालय में निर्धारित तिथि तक जमा कराना आवश्यक है।
- किसी भी निविदा को स्वीकार करने एवं बिना कारण बताये निरस्त करने के समस्त अधिकार सक्षम 13 अधिकारी के पास सुरक्षित है। संवेदक को R.P.W.A.—100 की समस्त शर्ते मान्य होगी ।
- संवेदक द्वारा उक्त कार्यों के लिए निर्धारित मशीनरी जो निविदा कि स्पेशल कंडीशन में वर्णित है, को 14 स्वयं के पास होने या किराये पर लेने का प्रमाण पत्र देना होगा।
- वित्त विभाग के आदेश कमांक एफ 1(1)एफडी/जी.एफ.एण्ड ए. आर./2007 दिनांक 30.09.2011 (सर्कुलर नं. 11–2011) के अनुसार 1000/- रूपये की राशि निविदा शुल्क के अतिरिक्त देनी होगी, 15 जो डिमाण्ड ड्राफट या बैंकर चैक के रूप में देय होगी। यह डिमाण्ड ड्राफट या बैंकर चैक मैनेजिंग डायरेक्टर, आर.आई.एस.एल. के पक्ष में जयपुर में भुगतान योग्य होना चाहियें।
- कार्य पूर्ण करने की अवधि में मानसून अवधि सम्मिलित है। 16
- ई टेण्डरिंग के लिए निविदादाता हेतु निर्देश-17

इन निविदाओं में दिलचस्पी लेने वाले निविदा दाता निविदा प्रपन्नों का इन्टरनेट साईट htpp:// अ eproc.rajasthan.gov.in से Download) कर सकते है।

निविदाओं में भाग लेने वाले निविदादाताओं को इन्टरनेट साईट htpp:// eproc. rajasthan.gov.in पर रजिस्टर करवाना होगा। ऑनलाईन निविदा में भाग लेने के लिए डिजिटल सर्टिफिकेट इनमोरमेशन व टेक्नोलॉजी एक्ट 2000 के तहत प्राप्त करना होगा जो इलेक्ट्रोनिक निविदा में साइन करने हेतु काम आयेगा।

निविदादाता उपरोक्त डिजिटल सर्टिफिकेट सी सी ए (C C A ) द्वारा स्वीकृत एजेन्सी से प्राप्त कर सकते है। जिन निविदादाताओं पास पूर्व में वैध डिजिटल सर्टिफिकेट है, नया डिजिटल सर्टिफिकेट

लेने की आवश्यकता नहीं है।

स निविदादाताओं को निविदा प्रपन्न इलेक्ट्रोनिक फार्मेट में उपरोक्त वेयसाईट पर डिजिटल साईन के साथ प्रस्तुत करना होगे। जिसके प्रस्ताव डिजिटल साइन के साथ नहीं होगें। उनके प्रस्ताव स्वीकार नहीं किये जायेगें। कोई भी प्रस्ताव अकेले भौतिक फार्म में स्वीकार नहीं होगा।

द ऑनलाईन निविदाऐं निर्धारित दिनांक एवं समय पर उपरोक्त कम संख्या – 3 अ के अनुसार खोली

जावेगी।

य इलेक्ट्रानिक निविदा प्रपन्नों के जमा कराने से पूर्व निविदादाता यह सुनिश्चित कर लेवे की निविदा प्रपन्नों से संबंधित सभी आवश्यक दस्तावेजों की स्केन कॉनी निविदा प्रपन्नों के साथ अटैच कर दी गयी है।

र कोई भी टेण्डर इलेक्ट्रोनिक जमा कराने में किसी कारण लेट हो जाता है, तो उसका जिम्मेदार विभाग

नहीं होगा।

ल टेंडर के प्रपन्नों में आवश्यक सभी सूचियों को संपूर्ण रूप से भरकर ऑनलाईन दर्ज करें।

18 वैध्यता अवधि का सेलटैक्स क्लीयरेन्स सर्टिफिकेट प्रस्तुत करना होगा।

19 वर्तमान में प्रचलित बाजार दर से दर विश्लेषण करने पर कुल राशि में जो अन्तर (नीचे दर ) आयेगा वो (अनबेलेन्स राशि ) संवेदक को जमा कराना होगा।

20 राज्य सरकार के वित विभाग / RTPP नियम / PWF & FR के संबंध में समय—समय पर जारी

आदेश / परिपत्र प्रभावी रहेगें।

(जतीन कुमार गांधी) सहायक आयुक्त देवस्थान विभाग उदयपुर

1 श्रीमान् आयुक्त महोदय, देवरथान विभाग, राजस्थान – उदयपुर।

2 श्रीमान् अधीक्षण अभियन्ता, सार्वजनिक निर्माण विभाग उदयपुर।

अभियन्ता मु० देवस्थान विभाग, राजस्थान – उदयपुर।

4 निरीक्षक, देवरथान विभाग – उदयपुर

5 श्रीमान आयुक्त महोदय देवरथान विभाग राजस्थान उदयपुर के प्रेषित कर निवेदन है कि निविदा सूचना को विभागीय वेबसाईट अपलोड करवाने का श्रम करावें।

6 नोटिस बोर्ड, कलेक्ट्री कार्यालय – उदयपुर/चित्तौडगढ/राजसमन्द।

7 नोटिस बोर्ड,मुख्यालय/ कार्यालय हाजा।

सहायक आयुक्त देवस्थान विभाग उदयपुर

#### ASSISTANT COMMISIONER DEVASTHAN, UDAIPUR

NAME OF WORK: Colour, Repairing & Renovation work of Devasthan department direct and self supported temples as description in tender documents (Total 33) situated in Udaipur/Rajsamand/Chittaurgarh District.

#### SPECIAL CONDITIONS OF CONTRACT

- 1. Tenders are hereby invited for repairing and renovation of government Repairing & Renovation work of Devasthan department direct and self supported temples as description in tender documents (Total 33) situated in Udaipur/Rajsamand/Chittaurgarh District
- 2. The schedule "G" is based on current BSR Building 2019 circle Udaipur i.e. integrated BSR w.e.f. BSR Building 2019 circle Udaipur 2019with up to date addendum therefore extra required to be executed the BSR as above shall be applicable.
- 3. Earnest money deposited will be refunded separately after first Running bill applying through proper way. Contractor will not claim the refund earnest money before tender validity period. Earnest Money, @½% (half percent) for Assistant commissioner Devasthan UDAIPUR enlisted contractor and @2% (two percent) for others of the estimated cost of the work and Rs 1000/- Tender cost in the form of demand draft in favors of Assistant commissioner Devasthan UDAIPUR, Payable at UDAIPUR before the day one of the bid opening and evaluation fee for e-tendering amounting to Rs. 1000/- will be on DD / BD in the name of MD RISL, Jaipur payable at Jaipur.
- 4. The rates quoted by the tenderer will remain in force up to 2 months from the date of tender.
- 5. The contractor shall hand over the material received from excavation to the engineer in charge and in case of loss of material the same shall be recovered from contractor at the prevailing BSR rate however the contractor is fully responsible for the safe custody of material till the completion.
- 6. The cement produce from mini cement plant will not be allowed. The quality of cement to be used should be approved from engineer-in-charge.
- 7. The acceptance of bid/tender shall vest with the competent authority as per schedule of powers in force at the time of sanction who does not bind himself to accept the lowest tender/bid and reserves to him the authority to reject any or all of the tenders/bids received without assigning a reason.
- 8. For legal dispute the jurisdiction will be state of rajasthan only.
- 10. In case of any typographical error in unit/rates or specification, same will be governed by PWD Building BSR 2019 and Road 2019.
- 11. The rates quoted shall be inclusive of royalty sales Tax and other all taxes if any. The contractor shall abide by the labor Laws.
- 12. Conditional tender shall not be considered.
- 13. Signature of Schedule "G" shall be treated as agreement between the department and the tender and would mean enforcement of standard terms and conditions.
- 14. All light/heavy machineries required for the work shall have to be arranged by the contractor at his own.
- 15. In case of any typographical error in Schedule "G" the current BSR shall be taken as correct.
- 16. All construction material and cement and steel shall be arranged by the contractor himself in including scaffolding etc.
- 17. The sample of the material to be used at site should be got approved in advance by the Engineer in charge.

Udaipur

5mg

- 18. All the arrangements required for testing of materials shall have to be done by the contractor.
- 19. The useful dismantled material will be used by the contractor and cost will be recovered accordingly by the contractor.
- 20. कार्य का गुणात्मक रतर बनाया रखा जाना आवश्यक है अतः कार्य प्रारम्भ करने रो पूर्व तकनिकी अधिकारी से पूर्ण रूप से मार्गदर्शन प्राप्त करना आवश्यक होगा विभाग के दिशा निर्देशों के अनुसार किसी भी रिव्यति मेंस्वीकृत तकमीने से हटकर किये गये कार्य का कोई भुगतान नहीं किया जावेगा कार्य हेतु जारी Technical Report Estimate for the work detil and Abstract के अनुरूप ही करना होगा। G scheudle Estimate for the work जिसके अनुरूप कार्य का भुगतान किया जावेगा के क्रम में दिशा निर्देश तकनिकी अधिकारियों से प्राप्त करना होगा। G scheudle Estimate for the work प्रत्येक कार्य की अलग अलग प्रति कार्यालय नोटिस बोर्ड पर चरपा कर दी गई है प्रत्येक कार्य की Technical Report Estimate for the work detail and Abstract of G scheudle Estimate for the work के सम्बन्ध में निविदा डाले जाने से पूर्व कोई भी जानकारी विभागीय तकनिकी अधिकारी से प्राप्त की जा सकती है, कार्य का भुगतान तकनिकी अधिकारी हारा किये गये कार्य के मुल्याकंन के अनुसार ही किया जावेगा। G scheudle Estimate for the work निविदा के साध्य विभागीय वेबसाईट, sppp.raj.nic.in एवम eproc.rajasthan.gov.in पर भी देखी जा सकती है।

All Terms and rules regulations/condition as per PWF&AR followed strictly be noted

Assistant Commissioner Devsthan UDAIPUR

I/We hereby undertake to complete the work with above conditions and in accordance with the Most detailed specifications which I/We have read and understood.

Signature of Contractor Mobil No and address

# GOVERNMENT OF RAJASTHAN DEVASTHAN DEPARTMENT

# OFFICE OF THE ASSISTANT COMMISSIONER DEVASTHAN DEPAARTMENT UDAIPUR

Financial - Bid NIT No. - 12/2023-24

NAME OF WORKS

Colour Repairing & Renovation work of Devasthan department direct and self supported temples as description in tender documents (Total 33) situated in Udaipur/Rajsamand/Chittaurgarh District.

APPROXIMATE COST : 27,06,741.00

EARNEST MONEY : 54200.00

COST OF TENDER : 1000.00 PROCESSING FEES : 1000.00

DATE OF DOWNLOADING : From 27-02-2024 ( 11-00 AM)

To 07-03-2024 (11.00 AM)

LAST DATE OF SUBMISSION : 07-03-2024 ( 6.00 PM)

DATE OF OPENING : 11-03-2024 ( At 12-30 PM)

COMPLETION PERIOD : 02 Months

2mg

## Instructions and Information to bidder regarding Fee, EMD etc.,

									Large and the same
	S.	Name of work	Estimated	Earnest	Tender	Period	Date of	Last Date of	Date of on
	No		Cost	Money	Fee	of	Downloadin	online	line
		2 " *	(in lacs)	(2%)	(in Rs)	Comp.	g	submission	opening
	1	2	3	4	5	6	7	8	9
		Colour ,Repairing	27,06,741/-	54200/-	1000	2	27-02-2024	07-03-2024	11-03-2024
		& Renovation		*		months	-1		A SUPER
		work of	Y = 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	it it		* ,, = = =	*** _ = =	
	1	Devasthan			1 1 a 1	7. P Y		9.	
		department direct							
		and self supported				1 0 80 0	A B		
		temples as		3001 100	r'				
		description in	e <sub>v</sub> , , , , , , , , , , , , , , , , , , ,	- 0					- 1
		tender documents	A STATE OF THE STA					-	
		(Total 33) situated	ш		-		* 1		1
1		in Udaipur/	44				A	a *	
1		Rajsamand/Chittau	* - *	1			9 9	, = X	
1		rgarh District.				-			
- 1		- Suit District.					N 10 × 10 × 10 × 10 × 10 × 10 × 10 × 10		

Jateen Kumar Gandhi Assistant Commissioner Devasthan Department Udaipur

11

# OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Estimated Cost

Enrnest Money 2%

Tender Fee

Date of Selling

Date of Receipt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI CHATURBIIUJ JI,

DHANERIYA

GARII,

DEVGARII,

VILLAGE RAJSAMAND(RAJ.)

Period

#### SCHEUDLE "G"

{Based on P.W.D. B.S.R.2022}

S.	Particular	Quantity	Rate	Unit	Amount
1.	Carriage of earth/ building material and road material etc. by manual or by mechanical transport including loading unloading etc. (lead for 20 km)	6.00 aum	240.00	p.cum	1440.00
2.	Repair to cement plaster in cement mortar 1:6 (1 cement: 6 fine sand) including removal of old plaster in regular shade and white or colour washing.				
3.	Renair to stone mason :	50.00 sqmt	235.00	p.sqmt	11750.00
	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	30.00sqmt	318.00	p.sqmt	9540.00
4.	Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	60.00 sqm	9		31
5.	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	400.00sqm	80.00	p.sqmt	900.00
	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.		80.00	p.sqmt	32000.00
T	old work (one or more coats) including scrapping and priming coat and necessary repairs.	200.00sqmt	69.00	p.sqmt	13600.00
7	그는 그들은 그는 그는 그들은 그들은 사람들은 그를 그리고 있다.	400.00sqm	22.00	p.sqmt	8800,00
K		2 1/3 X/21/ PA	130	Total Rs.	78030.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

1/We hereby agreed to completed the above work @ ----------% Above/bclow the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Earnest Money Tender Period Date of Cost 2% Fee Selling Receipt

DC. 12

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI CHATURBHUJ JI, SADAR BAZAR, RAJSAMAND(RAJ.)

#### SCHEUDLE "G "

{Based on P.W.D. B.S.R.2022}

		13	based on .	[ . YY . 17 . 13 . L	3.1.4.2.0225
S.	Particular	Quantity	Rate	Unit	Amount
2.	Carriage of earth/ building material and road material etc. by manual or by mechanical transport including loading unloading etc. (lead for 20 km)		240.00	p.cum	1440.00
	Repair to cement plaster in cement mortar 1:6 (1 cement: 6 fine sand) including removal of old plaster in regular shade and white or colour washing.	201			
3.	Repair to stone magazine	50.00 sqmt	235.00	p.sqmt	11750.00
4.	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.  Dismantling of old pleases.	30.00sqmt	318.00	p.sqmt	9540.00
	Dismantling of old plaster or skirting, raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.				igi "ing.
5.		60.00 sqm	15.00	p.sqmt	900.00
_	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.				200100
		400.00sqm	80.00	p.sqmt	32000.00
	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.		1.19		2200,00
	old work (one or more coats) including scrapping and priming coat and necessary repairs.	200.00sqmt	69.00	p.sqmt	13600.00
		400.00sqm	22.00	p.sqmt	8800.00
		The state of the s	* 1	Total Rs.	78030.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

I/We hereby agreed to completed the above work @ ------ Above /below the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

Estimated Cost

Enruest Money 2%

Tender Fee Portod D

Date of Selling Date of Recolpt

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI MAHADEV DHANESHWAR JI, RAJSAMAND(RAJ.)

## SCHEUDLE "G"

(Based on P.W.D. B.S.R.2022)

š.	Particular	Quantity	Rate	Unit	Amount
No 1.	Carriage of earth/building material and road material etc. by manual or by mechanical transport including loading unloading etc. (lead for 20 km)	6.00 cum	240.00	p.cum	1440,00
2,	Repair to cement plaster in cement mortar 1:6 ( 1 cement : 6 time sand) including removal of old plaster in regular shado and white or colour washing,	70,00 sqmt	235,00	p.aqmt	16450,00
3.	Repair to stone masonry in coment sand mortar 1:6 with old and new stones.	35.00sqmt	318.00	p.sqmt_	11130,00
4.	Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	200,00 sqm	15,00	p.sqmt	3000,00
5.	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	450,00sqm	80.00	p,sqmt	36000,00
6.	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.	200.00sqmt	69.00	p.sqmt	13600.00
7.	old work (one or more conts) including scrapping and priming cont and necessary repairs.	500.00sqm	22,00	p.sqmt	11000,00
-				Total Rs.	92620

Assistant Engineer
Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

1/We hereby agreed to completed the above work @ -------% Above /below the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

AND AND LIVAT COMMISSIONER, DEVASTITAN, OFFITTES

Estimated Cost

Enruest Money

Tender Fee Period

Date of Selling Date of Receipt

NAME OF WORK: REPAIR WORK OF TEMPLE SHRI GANESH JI, RAJSAMAND (RAJ.)

#### SCHEUDLE "G"

(Based on P.W.D. B.S.R.2022)

Assistant Engineer	Quantity	Rate	Unit	Amount
evasthan, Udaipur :h/ building material and				" = "15 E _ 1"
mechanical transport including loading unloading etc. (lead for 20 km)	6.00 cum	240.00	p.cum	1440.00
2. Repair to cement plaster in cement mortar 1:6 (1 cement: 6 fine sand) including removal of old plaster in regular shade and				
white or colour washing.	110.00 sqint	235.00	p.sqmt	25850.00
3. Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	20.00sqmt	318.00	p.sqmt	6360.0
d. Dismantling of old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.		15.00	p.sqmt	750.0
Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation	50.00 sqmt	,	p.sqme	47 47
of base with primer putty lippy complete in all respect.	460:00sqm	80.00	p.sqmt	36800.0
brand and manufacture to give an even shade. Two or more coats on new work.	70,00sqmt	69.00	p.sqmt	4830.0
old work (one or more coats) including scrapping and priming coat and necessary repairs.	150.00sqm	22.00	p.sqmt	3300.0
		S	Total Rs.	79330.0

Assistant Engineer
Devasthan, Udaipur.

Assistant Commissioner Devasthan, Udaipur.

5.5. (32)

## OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Estimated Cost

Earnest Money 2%

Tender Fee Period Date of Selling

Date of Receipt

#### SCHEUDLE "G"

NAME OF WORK: -REPAIR WORK OF TEMPLE SHRI CHARBHUJA JI AT GADBOR DISTT. RAJSAMAND. (RAJ.)

	(Ras.)	{Based on P.W.D. B.S.R.2022}				
Particular	Quantity	Rate	Unit	Amount		
Plaster on new surface on wall in cer mortar 1:4 including raking of joints etc fine finish 20 mm thick.	ment sand complete 20.00sqmt	227.00	p.sqmt	4540.00		
Wall painting with plastic emulsion approved brand and manufacture to gi shade. New work including preparati with primer putty lippy complete in all r	paint of ve an even on of base concept 30.00samt	00.03	p.sqmt	2400.00		
Painting with enamel paint of approved manufacture to give an even shade. To coats on new work.	hrand and	69.00	p.sqmt	2070.00		
Long Point	unsheathed ade and 1.5 copper earth pp. Make in m duty PVC les 18 SWG w less cage vitch board & nick phenolic s screws cup etc. as reqd. uptp 3 Mtr) t (up to 6 mtr) ( uo to 10 Mtr)	199.12 312.75 438.75	Each Each Each	7965.00 31275.00 4388.00		
7. S/D FR PVC insulated & unshead copper condr. ISI marked IS: 694 of and approved make in existing sometimes conduit/casing capping inclg. Making etc. as reqd. Gr. 1	thed flexible f 1.1 KV grade urface/recessed	48.03	p.mtr p.mtr p.mtr	3366.00 4800.00 6975.00		

Assislant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

5.5. (33)

# OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTIAN, UDAIPUR,

Estimated Cost Enruest Money

Tender Tee

Perlod

Date of Selling Date of Receipt

#### SCHEUDLE "G"

NAME OF WORKS REPAIR WORK OF TEMPLE SHRI GOPESHWAR MAHADEV JI KRIAVARA, KUMBHALGARII DISTT, RAJSAMAND. (RAJ.)

Section 1	The Continues of the second of	{Bas	ed on P.W	.D. B.S.R.	2022}
0		Quantity	Rate	Unit	Amount
2000	but still the subset, sufficient of selection of the for sufficient of subsets.			_  -	
1	eleaning the outputs and shifting anking out joints and eleaning the source for planter including disposal of rubbish to				1
	I the dumpling property that the same disposal of rubbish to				
9-76/19****	Plaster on new surface on wall in cement sand mostar 1:4	60,00 sqmt	15.00	p.sqmt	900.00
•	Including calling of later wall in cement sand mortar 1st				
	1 at			1	
,	Wall pulletting with the same of the same	60,00sqmt	227.00	p.sqmt	13620.00
	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shots. No approved brand	-			1
	and manufacture to give an even slade. New work including			The transfer	r
	preparation of base with primer putty lippy complete in all tespect.	,	1	1	
eruseria.	10. The contract of the state o	150.00sqmt	80,00	p.sqmt	28000.00
-1	Painting with cummel paint of approved brand and manufacture to give an even shade. Two are supposed brand and manufacture	- Postaria in the second	4444		21
ngunati			69.00	p.sqmt	3450.00
	ford work (one or more conta) including committee	- AAAAAAAAAA	177,12		
	1 mile printing continue necessary repute	1 350.00sam	22.00	p.sqmt	7700.00
7.	Wring of light p./hm pt./exhaust but of foot foot set with the				
	Sq.mm FR PVC Insulated unsheathed flexible copper condi-	<b>'</b>		1	
1	1.1 KV grade and 1.5 Sq.mm PR PVC Insulated flexible	:		1 1	
1	copper earth condr. 1.1 KV grade 18: 694 of app. Make I				
1	surface/recessed 181 marked medium duty PVC conduit & it			1	
1	necessories round tiles 18 SWG M.S.box with earth termina	î l			
1	serew less ongo connectors for neutral looping in swite	i. l			
1	board & fulse colling pt. 6 A switch 3.0 mm thick phenol	e l			
-	luminated sheet while plated/brass serows cup washers makir	R		8 1 2	
- 1	connection testing etc. as read. Or.1		1		
1	Short Point (uptp 3 Mt	r) 20 Nos	199.12	Each	2382.00
- 1	Medlum Point (up to 6 m		312.75	Each	6255.00
- 1	Long Point ( no to 10 M	r) 10 Nos	438.75	Each	4388.00
ľ	8. S/D FR PVC Insulated & unsheathed Hexible copper con-	lr.			
1	181 marked 18: 694 of 1.1 KV grade and approved make	in		1	
- 1	existing surface/recessed conduit/ensing capping inc	lg.			
	Making connections etc. as read, Cir. 1		20.00		
	3x1.5 sqm n		35.66	p.mtr	3366.00
1	2x2,5 sqn mm+1x1.5 sqr		48.03	pantr	4800.00
	2x4.0sqnim+1x2.5sqi		69,75	p.mtr	6975.00
	1x4.0 sqt		26.88 140.00	p.mtr	2688.00
	2x10 sq	mil 30 km	1 140.00	p.mtr	7000.00
				Total Rs.	91524.00

Assistant Engineer Devostban, Udalpur Assistant Commissioner Devasthan, Udaipur.

Estimated Cost

Earnest Money 2%

Tender Fee Period

Date of Selling

Date of Receipt

NAME OF WORK: REPAIR WORK OF TEMPLE SHRI ROOPNARAYANJI, SEVANTRI, RAJSAMAND. (RAJ.)

#### SCHEUDLE "G"

. T	Particular	{Bas	ed on P.V		(.LIILL)	
:0		Quantity	Rate	Unit	Amount	
•	Carriage of earth/ building material and road material etc. by manual or by mechanical transport including loading unloading etc. ( lead for 20 km)	6.00 cum	240.00	p.cum	1440,(%)	
2.	Repair to cement plaster in cement mortar 1:6 (1 cement: 6 fine sand) including removal of old plaster in regular shade and white or colour washing.	70.00 sqmt	235.00	p.sqmt	16450,00	
3.	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	35.00sqmt	318.00	p.sqrnt	11130.00	
4.	Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	70.00 sqm	15.00	p.sqmt	1050.00	
5.	brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	415.00sqm	80.00	p.sqmt	33200.00	
6	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats of	100.00sqm	69.00	p.sqmt	6900.00	
1	new work.  old work (one or more coats) including scrapping an priming coat and necessary repairs.	415.00sqm	22.00	p.sqmt Total Rs	9130.00	

Assistant Engineer
Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

I/We hereby agreed to completed the above work @ ------ Above /below the "G" Schedule

SIGNATURE OF CONTRACTOR

CLASS:

Date of Date of Period Earnest Money Tender **Estimated** Receipt Selling Fee 2% Cost

## SCHEUDLE "G "

NAME OF WORK: -REPAIR WORK OF TEMPLE SHRI NAVLAKHA HANUMAN JI,

GULAB BAG, UDAIPUR. (RAJ.) {Based on P.W.D. B.S.R.2022}

Based on 2				A-mount		
	DOD.	Particular	Quantity	Rate	Unit	Amount
.	BSR	Particular		1 2	- 3-1	
·	Ref. B-40 5-1-1	Carriage of earth/ building material and road material etc. by manual or by				2400.00
		mechanical transport including loading	10.00 cum	240.00	p.cum	2400.00
, 1164a	D 142	unloading etc. (lead for 20 km)	10.00 cum			
2.	B-142	based putty over plastered surface to			. 17	
	12.22	prepare the surface even and smooth	100.00Sqm	46.00	P.sqm	4600.00
3.	B-132 13.1	complete Repair to stone masonry in cement sand mortar 1:6 with old and new	30.00sqmt	318.00	p.sqmt	9540.00
4.	B-143	Dismantling of old plaster or skirting raking out joints and cleaning the	,	2 1		
	14.54	surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	100.00 sqm	15.00	p.sqmt	1500.00
5.	B-128 12.67.	Wall painting with plastic emulsion		-	-	
		New work including preparation of		-	. 57	
		base with primer putty lippy complete in all respect.	450.00sqm	80.00	p.sqmt	36000.00
6		Painting with enamel paint of approved				
	12.68	shade. Two or more coats on new	200.00sqmt	69.00	p.sqmt	13600.00
7	7.	old work (one or more coats) including scrapping and priming coat and			* =	1 1200 0
		necessary repairs.	650.00sqm	22.00	p.sqmt	14300.0
-		1			Total Rs.	81940.0

Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

I/We hereby agreed to completed the above work @ ------ Above /below the "G" Schedule

Estimated Cost

**Earnest Money** 2%

Tender Fee

Period

Date of Selling

Date of Receipt

#### SCHEUDLE "G "

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI KALKA MATA JI, MOR DATA JI, PAHAD PAR, UDAIPUR. (RAJ.)

S.	BSR	Based on P.W.D. B.S.R.2022					
No	Ref.	Particular	Quantity	Rate	Unit	Amount	
1.	B-40	Carriage of earth/ building materia	1			,	
	5-1-1	and road material etc. by manual or by	/				
		mechanical transport including loading	5	1 .		0.6 k	
	D 140	unloading etc. ( lead for 20 km)	10.00 cum	240.00	p.cun	2400.00	
2.	B-142 12.22	Providing and applying white cement				1	
	12.22	based putty over plastered surface to	*	j		ţ.,	
		prepare the surface even and smooth complete	100.000	16.00	D	1600.00	
3.	B-132	Repair to stone masonry in cement	100.00Sqm	46.00	P.sqm	4600.00	
	13.1	sand mortar 1:6 with old and new	30.00sqmt	318.00	p.sqm	9540.00	
		stones.	30.00sqiiit	310.00	pisquii	. 5540.00	
4.	B-143	Dismantling of old plaster or skirting					
	14.54	,raking out joints and cleaning the					
		surface for plaster including disposal of					
		rubbish to the dumping ground within 50 meter lead.	100.00 sqm	15.00	p.sqmt	1500.00	
5.	B-128	Wall painting with plastic emulsion				-	
	12.67.1	paint of approved brand and				,	
	100000000000000000000000000000000000000	manufacture to give an even shade.		3			
		New work including preparation of					
		base with primer putty lippy complete					
		in all respect.	450.00sqm	80.00	p.sqmt	36000.00	
6.	B-12	Painting with enamel paint of approved		Ť	▽		
	12.68.1	brand and manufacture to give an even	200 00	60.00	1 .		
		shade. Two or more coats on new work.	200.00sqmt	69.00	p.sqmt	13600.00	
7.		old work (one or more coats) including					
		scrapping and priming coat and					
		necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00	
	$\rightarrow$			To	tal Rs.	81940.00	

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

the "G" Schedule

Estimated Enruest Money Tender Period Date of Selling Receipt

## SCHEUDLE "G "

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI BAN NATH JI, BAGOUR KI HAVELI, UDAIPUR. (RAJ.)

Based on P.W.D. B.S.R.2022}						
, and other states	BSR	Particular	Quantity	Rate	Unit	Amount
No L	Ref. B-40	Carriage of earth/ building material				
	5-1-1	and road material etc. by manual or by mechanical transport including loading unloading etc. ( lead for 20 km)	10.00 cum	240.00	p.cum	2400.00
2.	B-142 12.22	Providing and applying white cement based putty over plastered surface to prepare the surface even and smooth	100.00Sqm	46.00	P.sqm	4600.00
3.	B-132	sand mortar 1:6 with old and new	30.00sqmt	318.00	p.sqmt	9540.00
4.	B-143 14.54	stones.  Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	100.00 sqm	15.00	p.sqmt	1500.00
5.	B-128 12.67.1	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	450.00sqm	80.00	p.sqmt	36000.00
6.	B-12 12.68.1	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work	200.00sqmt	69.00	p.sqmt	13600.00
7.	,	old work (one or more coats) including scrapping and priming coat and necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00 <b>81940.00</b>

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

D.C. 9

## OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Estimated Earnest Money Tender Period Date of Cost 2% Fee Selling Receipt

#### SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI DHANESHWAR JI PANCH MAHADEV, GANGOUR GHAT, UDAIPUR. (RAJ.)

{Based on P.W.D. B.S.R.2022} Unit Amount **BSR** Particular Quantity Rate S. No Ref. Carriage of earth/ building material B-40 and road material etc. by manual or by 5-1-1 mechanical transport including loading 2400.00 240.00 p.cum unloading etc. (lead for 20 km) 10.00 cum Providing and applying white cement B-142 2. 12.22 based putty over plastered surface to prepare the surface even and smooth 4600.00 100.00Sqm 46.00 P.sqm complete B-132 Repair to stone masonry in cement 3. 9540.00 318.00 p.sqmt sand mortar 1:6 with old and new 13.1 30.00sqmt stones. B-143 Dismantling of old plaster or skirting 4. 14.54 raking out joints and cleaning the surface for plaster including disposal of 1500.00 rubbish to the dumping ground within 100.00 sqm 15.00 p.sqmt 50 meter lead. B-128 5. Wall painting with plastic emulsion 12.67.1 paint of approved brand manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect. 450.00sqm 80.00 36000.00 p.sqmt Painting with enamel paint of approved 6. B-12 brand and manufacture to give an even 12.68.1 shade. Two or more coats on new 200.00sqmt 69.00 p.sqmt 13600.00 old work (one or more coats) including 7. scrapping and priming coat and

Assistant Engineer Devasthan, Udaipur

necessary repairs.

Assistant Commissioner Devasthan, Udaipur.

p.sqmt

Total Rs.

14300.00

81940.00

650.00sqm

SIGNATURE OF CONTRACTOR CLASS: ADDRESS

22.00

Date of Date of Period Tender Earnest Money Estimated Receipt Selling Fee 2% Cost

#### SCHEUDLE "G "

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI MATA JI, VIDHYA JI, CHANDPOLE, UDAIPUR. (RAJ.)

(Rased on P.W.D. B.S.R.2022)

	{Based on P.W.D. B.S.R.2022}					T .
S.	BSR	Particular	Quantity	Rate	Unit	Amount
S. No	Ref.	1 at ticular			11 912 1	4 - 1
1.	B-40	Carriage of earth/ building material				
1.	5-1-1	and road material etc. by manual or by				
	3-1-1	mechanical transport including loading				2400.00
		unloading etc. ( lead for 20 km)	10.00 cum	240.00	p.cum	2400.00
2.	B-142	Providing and applying white cement	1			
۷.	12.22	based putty over plastered surface to				
	12.22	prepare the surface even and smooth			D =====	4600.00
		complete	100.00Sqm	46.00	P.sqm	4000.00
3.	B-132	Repair to stone masonry in cement		210.00	n camt	9540.00
	13.1	sand mortar 1:6 with old and new	30.00sqmt	318.00	p.sqmt	9540.00
		stones.			-	
4.	B-143	Dismantling of old plaster or skirting		-		7
	14.54	raking out joints and cleaning the				
		surface for plaster including disposal of	100.00 sqm	15.00	p.sqmt	1500.00
		rubbish to the dumping ground within	100.00 34111	13.00	Program	
_	D 120	50 meter lead.  Wall painting with plastic emulsion				
5.	B-128 12.67.1					×
	12.07.1	manufacture to give an even shade.				
		New work including preparation of				
		base with primer putty lippy complete				
		in all respect.	450.00sqm	80.00	p.sqmt	36000.00
6.	B-12	Painting with enamel paint of approved				
0.	12.68.1	brand and manufacture to give an even				11, 11
	12.500	shade. Two or more coats on new	200.00sqmt	69.00	p.sqmt	13600.00
		work.				1 1
7.		old work (one or more coats) including				
		scrapping and priming coat and	650.00sqm	22.00	n samt	14300.00
		necessary repairs.	1 050.00sqiii		p.sqmt  Total Rs.	81940.00
	)				rotai 173.	01740.00

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

1/We hereby agreed to completed the above work @ ------ Above /below the "G" Schedule

0, 2.60

## OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Tender Period **Estimated** Earnest Money Date of Date of 2% Fee Selling Cost Receipt

#### SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI MANSHAPURAN GANESH JI, JAGDISH CHOWK, UDAIPUR. (RAJ.)

		{Based on P.W.D. B.S.R.2022}				
S.	BSR	Particular	Quantity	Rate	Unit	Amount
No	Ref.					
1.	B-40	Carriage of earth/ building material				
	5-1-1	and road material etc. by manual or by				
		mechanical transport including loading		1		0.400.00
		unloading etc. ( lead for 20 km)	10.00 cum	240.00	p.cum	2400.00
2.	B-142	Providing and applying white cement				, T
	12.22	based putty over plastered surface to		9		1
		prepare the surface even and smooth		46.00	Dagma	4600.00
		complete	100.00Sqm	46.00	P.sqm	4000.00
3.	B-132	Repair to stone masonry in cement	20.00	210.00	n gamt	9540.00
	13.1	sand mortar 1:6 with old and new	30.00sqmt	318.00	p.sqmt	9340.00
_	D 140	stones.				
4.		Dismantling of old plaster or skirting	1.			
	14.54	,raking out joints and cleaning the surface for plaster including disposal of				
		rubbish to the dumping ground within	100.00 sqm	15.00	p.sqmt	1500.00
	~	50 meter lead.	Tooloo Bqiii		I I I I I I I I I I I I I I I I I I I	
5.	B-128	Wall painting with plastic emulsion		,		1
	12.67.1					,
		manufacture to give an even shade.				
		New work including preparation of		н		,
		base with primer putty lippy complete	150.00	00.00		26000.00
		in all respect.	450.00sqm	80.00	p.sqmt	36000.00
6	180	Painting with enamel paint of approved				
	12.68.			60.00	F	10.000.00
		shade. Two or more coats on new	200.00sqmt	69.00	p.sqmt	13600.00
-	,	work. old work (one or more coats) including		× 11		
	7.	scrapping and priming coat and	l .			
		necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00
+	_		1		Total Rs.	81940.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

the "G" Schedule

04

## OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Estimated Earnest Money Tender Period Date of Cost 2% Fee Selling Receipt

#### SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI CHOUMUKHA MAHADEV JI, ASIND KI HAVELI KE PAS, UDAIPUR. (RAJ.)

{Based on P.W.D. B.S.R.2022}

		{Based on P.W.D. B.S.R.2022}				
S.	BSR	Particular	Quantity	Rate	Unit	Amount
No	Ref.				, II h	, s = 3 = 3 = 1
1.	B-40	Carriage of earth/ building material				
	5-1-1	and road material etc. by manual or by	ш		1.0	1.16
		mechanical transport including loading				*
		unloading etc. ( lead for 20 km)	10.00 cum	240.00	p.cum	2400.00
2.	B-142	Providing and applying white cement				
	12.22	based putty over plastered surface to			Э.	
		prepare the surface even and smooth		3	* -	
		complete	100.00Sqm	46.00	P.sqm	4600.00
3.	B-132	Repair to stone masonry in cement				
	13.1	sand mortar 1:6 with old and new	30.00sqmt	318.00	p.sqmt	9540.00
		stones.				
4.	B-143	Dismantling of old plaster or skirting	4		11	
	14.54	raking out joints and cleaning the				
		surface for plaster including disposal of		, v	t.v	-
		rubbish to the dumping ground within	100.00 sqm	15.00	p.sqmt	1500.00
5.	B-128	50 meter lead.				
3.	12.67.1	Wall painting with plastic emulsion				
	12.07.1	paint of approved brand and manufacture to give an even shade.				
		New work including preparation of		9		
		base with primer putty lippy complete	sit so	n 4		
		in all respect.	450.00sqm	80.00	p.sqmt	36000.00
6.	B-12	Painting with enamel paint of approved			p.sqmt	30000.00
٠.	12.68.1	brand and manufacture to give an even		* *		~
		shade. Two or more coats on new	200.00sqmt	69.00	n samt	13600.00
		work.	= o o o o o o o o o o o o o o o o o o o	02.00	p.sqmt	13000.00
7.		old work (one or more coats) including			4 <b>8</b>	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
		scrapping and priming coat and	3	* # # E		X.
$\Rightarrow$	1	necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00
<del>_</del>	$\rightarrow$	4		T	otal Rs.	81940.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

1/We hereby agreed to completed the above work @ ------ Above /below the "G" Schedule



Estimated Cost

Earnest Money 2%

Tender Fee Period

Date of Selling

Date of Receipt

#### SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI THAKUR SWAROOP SAHAI JI, KANWAR PADA KA MAHAL, UDAIPUR. (RAJ.)

{Based on P.W.D. B.S.R.2022}

No Ref.  1. B-40 Carriage of earth/ building material and road material etc. by manual or by mechanical transport including loading unloading etc. (lead for 20 km)  2. B-142 Providing and applying white cement based putty over plastered surface to prepare the surface even and smooth complete  3. B-132 Repair to stone masonry in cement 13.1 sand mortar 1:6 with old and new stones.  4. B-143 Dismantling of old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.  5. B-128 Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.  6. B-12 Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.  7. old work (one or more coats) including scrapping and priming coat and	S.	BSR	Particular	Quantity	Rate	Unit	Amount
1. B-40   S-1-1   and road material etc. by manual or by mechanical transport including loading unloading etc. (lead for 20 km)   10.00 cum   240.00   p.cum	1		1 at ticular	Quantity.			
unloading etc. (lead for 20 km)   10.00 cum   240.00   p.cum		B-40	and road material etc. by manual or by				- Canada
12.22   based putty over plastered surface to prepare the surface even and smooth complete   100.00Sqm   46.00   P.sqm				10.00 cum	240.00	p.cum	2400.00
3. B-132 Repair to stone masonry in cement sand mortar 1:6 with old and new stones.  4. B-143 Dismantling of old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.  5. B-128 Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.  6. B-12 Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.  7. old work (one or more coats) including scrapping and priming coat and	2.		based putty over plastered surface to prepare the surface even and smooth	100 00Sam	46.00	P.sam	4600.00
14.54 ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.  5. B-128 Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.  6. B-12 Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.  7. old work (one or more coats) including scrapping and priming coat and	3.	1	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.				9540.00
12.67.1 paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.  6. B-12 Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.  7. old work (one or more coats) including scrapping and priming coat and	4.		raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within		15.00	p.sqmt	1500.00
12.68.1 brand and manufacture to give an even shade. Two or more coats on new work.  7. old work (one or more coats) including scrapping and priming coat and	5.		paint of approved brand and manufacture to give an even shade.  New work including preparation of base with primer putty lippy complete	450.00sqm	80.00	p.sqmt	36000.00
scrapping and priming coat and	6.		brand and manufacture to give an even shade. Two or more coats on new work.	200.00sqmt	69.00	p.sqmt	13600.00
	7.			650.00sqm	22.00		14300.00 81940.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

1/We hereby agreed to completed the above work @ -----the "G" Schedule

--% Above /below

0,69

## OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Date of Date of Period Tender Earnest Money **Estimated** Receipt Selling Fee 2% Cost

## SCHEUDLE "G "

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI MATA JI, KANWAR PADA KA MAHAL, UDAIPUR. (RAJ.)

(Rased on P.W.D. B.S.R.2022)

	{Based on P.W.D. B.S.R.2022}						
S.	BSR	Particular	Quantity	Rate	Unit	Amount	
	Ref.			1			
No 1.	B-40 5-1-1	Carriage of earth/ building material and road material etc. by manual or by			17 1		
		mechanical transport including loading unloading etc. (lead for 20 km)	10.00 cum	240.00	p.cum	2400.00	
2.	B-142 12.22	Providing and applying white cement based putty over plastered surface to prepare the surface even and smooth complete	100.00Sqm	46.00	P.sqm	4600.00	
3.	B-132 13.1	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	30.00sqmt	318.00	p.sqmt	9540.00	
4.	B-143 14.54	Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	100.00 sqm	15.00	p.sqmt	1500.00	
5	B-128 12.67.	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	450.00sqm	80.00	p.sqmt	36000.00	
(	6. B-12 12.68.	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.		69.00	p.sqmt	13600.00	
	7.	old work (one or more coats) including scrapping and priming coat and necessary repairs.	650.00sqm	22.00	p.sqmt Total Rs.	14300.00 <b>81940.00</b>	

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

I /We hereby agreed to completed the above work @ ------ Above /below the "G" Schedule

Estimated Earnest Money Tender Period Date of Cost Pee Selling Receipt

#### SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI ANNPURNA JI, GHANTA GHAR POLICE THANA, UDAIPUR. (RAJ.)

{Based on P.W.D. B.S.R.2022}

		{Based on P.W.D. B.S.R.2022}					
S.	BSR	Particular	Quantity	Rate	Unit	Amount	
No	Ref.						
1.	B-40	Carriage of earth/ building material					
1	5-1-1	and road material etc. by manual or by				(3)	
		mechanical transport including loading					
		unloading etc. ( lead for 20 km)	10.00 cum	240.00	p.cum	2400.00	
2.	B-142	Providing and applying white cement		1			
	12.22	based putty over plastered surface to					
		prepare the surface even and smooth		Ÿ.			
		complete	100.00Sqm	46.00	P.sqm	4600.00	
3.	B-132	Repair to stone masonry in cement					
	13.1	sand mortar 1:6 with old and new	30.00sqmt	318.00	p.sqmt	9540.00	
		stones.					
4.	B-143	Dismantling of old plaster or skirting		п			
	14.54	raking out joints and cleaning the					
		surface for plaster including disposal of		1.5.00	l .	1500.00	
		rubbish to the dumping ground within	100.00 sqm	15.00	p.sqmt	1500.00	
		50 meter lead.		II .		*	
5.	B-128	Wall painting with plastic emulsion					
	12.67.1	paint of approved brand and		1			
		manufacture to give an even shade.					
		New work including preparation of					
		base with primer putty lippy complete	450 00	90.00		26000.00	
		in all respect.	450.00sqm	80.00	p.sqmt	36000.00	
6.	B-12	Painting with enamel paint of approved					
	12.68.1	brand and manufacture to give an even					
		shade. Two or more coats on new	200.00sqmt	69.00	p.sqmt	13600.00	
		work.					
7.		old work (one or more coats) including					
		scrapping and priming coat and		4		v	
		necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00	
				T	otal Rs.	81940.00	

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

D. C. (11)

#### OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Estimated Earnest Money Tender Period Date of Cost 2% Fee Selling Receipt

#### SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI THAKUR JI(CHANDRA PRABHA JI) KHERADIWARA, UDAIPUR. (RAJ.)

{Based on P.W.D. B.S.R.2022}

	{Based on P.W.D. B.S.R.2022}					
S.	BSR	Particular	Quantity	Rate	Unit	Amount
No	Ref.		*	- (		
1.	B-40	Carriage of earth/ building material	1	1		14
	5-1-1	and road material etc. by manual or by				
		mechanical transport including loading				
		unloading etc. (lead for 20 km)	10.00 cum	240.00	p.cum	2400.00
2.	B-142	Providing and applying white cement		3		
	12.22	based putty over plastered surface to		1	1144	
		prepare the surface even and smooth				1500.00
-	D 122	complete	100.00Sqm	46.00	P.sqm	4600.00
3.	B-132 13.1	Repair to stone masonry in cement	20.00	210.00		0540.00
	13.1	sand mortar 1:6 with old and new	30.00sqmt	318.00	p.sqmt	9540.00
4.	B-143	stones.  Dismantling of old plaster or skirting			4	1 -
7.	14.54	raking out joints and cleaning the	5		-	
	1 1.5 1	surface for plaster including disposal of				
		rubbish to the dumping ground within	100.00 sqm	15.00	p.sqmt	1500.00
		50 meter lead.	Tooloo sqiii	12.00	pioquit	1200.00
5.	B-128	Wall painting with plastic emulsion				-
	12.67.1	paint of approved brand and				
		manufacture to give an even shade.				
		New work including preparation of		_	18.	, x +=
		base with primer putty lippy complete			E 18 1 V	- 1
		in all respect.	450.00sqm	80.00	p.sqmt	36000.00
6.	B-12	Painting with enamel paint of approved				
-	12.68.1	brand and manufacture to give an even				p ×
		shade. Two or more coats on new	200.00sqmt	69.00	p.sqmt	13600.00
		work.				in the Land
7.		old work (one or more coats) including	ĕ	1	1 4 2	
		scrapping and priming coat and	650.00			
		necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00
$- \subseteq$	$\rightarrow$			T	otal Rs.	81940.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

I/We hereby agreed to completed the above work @ -----the "G" Schedule

-----% Above/below

D.C. 12

## OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Estimated Earnest Money Tender Period Date of Date of Cost 2% Fee Selling Receipt

#### SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI RAMCHANDRA JI, (RAM LAXMAN), GHANERAO GHATI,, UDAIPUR. (RAJ.)

Rased on PWD RSD 20221

No   Ref.   Car	nantling of old plaster or skirting	y g 10.00 cum t t 100.00Sqm t 30.00sqmt	240.00 46.00 318.00	p.cum P.sqm	2400.00 4600.00
1. B-40 Car and med unld 2. B-142 Program 2. 12.22 base prep com 3. B-132 Reprogram 3. B-143 Disn stone 4. B-143 Disn raki surfarubbi 50 m 5. B-128 Wall paint manu New	road material etc. by manual or behanical transport including loading bading etc. (lead for 20 km) widing and applying white cemented putty over plastered surface to eare the surface even and smooth plete air to stone masonry in cemented mortar 1:6 with old and new etc.	y g 10.00 cum t t 100.00Sqm t 30.00sqmt	46.00		
5-1-1 and med unker and med and med and med and and and and and and and and and an	road material etc. by manual or behanical transport including loading bading etc. (lead for 20 km) widing and applying white cemented putty over plastered surface to eare the surface even and smooth plete air to stone masonry in cemented mortar 1:6 with old and new etc.	y g 10.00 cum t t 100.00Sqm t 30.00sqmt	46.00		
2. B-142 Probase prepose com 3. B-132 Repose sand stone ston	chanical transport including loading bading etc. (lead for 20 km) viding and applying white cement of putty over plastered surface to eare the surface even and smooth plete air to stone masonry in cement mortar 1:6 with old and new les.	10.00 cum t t 100.00Sqm t 30.00sqmt	46.00		
2. B-142 Province 12.22 base prepared propagation in the state of the	pading etc. (lead for 20 km) viding and applying white cemen ed putty over plastered surface to pare the surface even and smooth plete air to stone masonry in cemen mortar 1:6 with old and new es. hantling of old plaster or skirting	10.00 cum t t 100.00Sqm t 30.00sqmt	46.00		
2. B-142 Probase prep com 3. B-132 Representation stone ston	viding and applying white cement of putty over plastered surface to pare the surface even and smooth plete air to stone masonry in cement mortar 1:6 with old and new les.	100.00Sqm t 30.00sqmt	46.00		
12.22 base prep com  3. B-132 Rep sand stone  4. B-143 Disn raki surfa rubbi 50 m  B-128 Wall 12.67.1 paint manu New	ed putty over plastered surface to pare the surface even and smooth plete air to stone masonry in cemen mortar 1:6 with old and new es.  nantling of old plaster or skirting	100.00Sqm t 30.00sqmt		P.sqm	4600.00
prep com 3. B-132 Reps sand stone 4. B-143 Disn raki surfa rubbi 50 m  B-128 Wall paint manu New	pare the surface even and smooth plete air to stone masonry in cemen mortar 1:6 with old and newes.  nantling of old plaster or skirting	100.00Sqm t 30.00sqmt		P.sqm	4600.00
3. B-132 Rep. 13.1 sand stone 14. B-143 Disn 14.54 ,raki surfa rubbi 50 m  12.67.1 paint manu New	plete air to stone masonry in cemen mortar 1:6 with old and new es. nantling of old plaster or skirting	t 30.00sqmt		P.sqm	4600.00
3. B-132 Reprisand stone 4. B-143 Disn raki surfa rubbi 50 m  12.67.1 paint manu New	air to stone masonry in cemen mortar 1:6 with old and new es.	t 30.00sqmt		P.sqm	4600.00
13.1 sand stone st	mortar 1:6 with old and new es. nantling of old plaster or skirting	<sup>7</sup> 30.00sqmt	318.00		
## B-143 Disn   14.54   paint	es. nantling of old plaster or skirting	1	310.00	n comt	0540.00
14.54 ,raki. surfa rubbi 50 m  B-128 Wall paint manu New	nantling of old plaster or skirting			p.sqmt	9540.00
14.34 ,rakii surfa rubbi 50 m . B-128 Wall 12.67.1 paint manu New				-	
B-128 Wall 12.67.1 paint manu New	ng out joints and cleaning the	*			
B-128 Wall paint manu New	ce for plaster including disposal of	,			×
B-128 Wall paint manu New	sh to the dumping ground within	100.00 sqm	15.00	p.sqmt	1500.00
12.67.1 paint manu New	eter lead.		1	r q	1500.00
manu New	painting with plastic emulsion				,
New	of approved brand and				
INEW	facture to give an even shade.		00		
haca	work including preparation of		4 9		
in all	with primer putty lippy complete respect.			= =	
	•	450.00sqm	80.00	p.sqmt	36000.00
B-12 Painti	ng with enamel paint of approved	-			
12.68.1 brand	and manufacture to give an even		a = ==		•
snade.	Two or more coats on new	200.00sqmt	69.00	p.sqmt	13600.00
work.	1 /		+ 1 a	te established	15000.00
old wo	ork (one or more coats) including		*		
				1	
necessa	ing and priming coat and	650.00sqm	22.00	p.sqmt	14300.00
3	ing and priming coat and ary repairs.		787	otal Rs.	81940.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

I/We hereby agreed to completed the above work @ ------- Above /below the "G" Schedule



**Estimated** Earnest Money Tender Period Date of Date of Cost 2% Fee Selling Receipt

#### SCHEUDLE "G "

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI BALA JI, GOVARDHAN VILAS, UDAIPUR. (RAJ.)

	1		ed on P.W.D. B.S.R.2022}			
S.	BSR	Particular	Quantity	Rate	Unit	Amount
No	Ref.		9			
1.	B-40	Carriage of earth/ building material		19.		* *
	5-1-1	and road material etc. by manual or by				
		mechanical transport including loading		240.00		240000
2	B-142	unloading etc. ( lead for 20 km)	10.00 cum	240.00	p.cum	2400.00
2.	12.22	Providing and applying white cement			0.00	3.47
	12.22	based putty over plastered surface to			13.74	1
		prepare the surface even and smooth complete	100.000	16.00	Dage	4600.00
3.	B-132	Repair to stone masonry in cement	100.00Sqm	46.00	P.sqm	4600.00
٠.	13.1	sand mortar 1:6 with old and new	20.00gamt	318.00	p.sqmt	9540.00
	.5.1	stones.	30.00sqmt	318.00	p.sqiiii	7540.00
4.	B-143	Dismantling of old plaster or skirting			<del> </del>	i i
	14.54	raking out joints and cleaning the		-		78.5
	Ser. 133 MANS 1831	surface for plaster including disposal of				
		rubbish to the dumping ground within	100.00 sqm	15.00	p.sqmt	1500.00
		50 meter lead.		,	ran	,-,,,,,
5.	B-128	Wall painting with plastic emulsion				
	12.67.1	paint of approved brand and				
		manufacture to give an even shade.				*
		New work including preparation of				, 4
		base with primer putty lippy complete				-
		in all respect.	450.00sqm	80.00	p.sqmt	36000.00
6.	B-12	Painting with enamel paint of approved				
	12.68.1	brand and manufacture to give an even				* 2 * 1 9
		shade. Two or more coats on new	200.00sqmt	69.00	p.sqmt	13600.00
		work.		3	e: 1 95	424.000
7.		old work (one or more coats) including				
		scrapping and priming coat and				
		necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00
				7	Total Rs.	81940.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

I/We hereby agreed to completed the above work @ ------ Above /below the "G" Schedule

Estimated Earnest Money Tender Period Date of Cost 2% Fee Selling Receipt

#### SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI BARBADIYA MAHADEV,

		BANKI KA MAGRA, UDAIPUR	R. (RAJ.) sed on P.W.D	. B.S.R.20	)22}	4 2 1
S. No	BSR Ref.	Particular	Quantity	Rate	Unit	Amount
1.	B-40 5-1-1	Carriage of earth/ building material and road material etc. by manual or by mechanical transport including loading unloading etc. (lead for 20 km)	10.00 cum	240.00	p.cum	2400.00
2.	B-142 12.22	Providing and applying white cement based putty over plastered surface to prepare the surface even and smooth complete	100.00Sqm	46.00	P.sqm	4600.00
3.	B-132 13.1	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	30.00sqmt	318.00	p.sqmt	9540.00
4.	B-143 14.54	Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	100.00 sqm	15.00	p.sqmt	1500.00
5.	B-128 12.67.1	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	450.00sqm	80.00	p.sqmt	36000.00
6.	B-12 12.68.1	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.	200.00sqmt	69.00	p.sqmt	13600.00
7.		old work (one or more coats) including scrapping and priming coat and necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

Total Rs. 81940.00

I/We hereby agreed to completed the above work @ ------- Above /below the "G" Schedule

**Estimated Earnest Money** Tender Period Date of Date of Cost 2% Fee Selling Receipt

#### SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI MATA JI SHESHAMBAV JI, VILLAGE NAI TEHSIL GIRWA, UDAIPUR. (RAJ.)

{Based on P.W.D. B.S.R.2022}

		{Bas	ed on P.W.D	. B.S.R.2	2022}	
S.	BSR	Particular	Quantity	Rate	Unit	Amount
No	Ref.	+		6 '		
1.	B-40	Carriage of earth/ building material	*	51		
	5-1-1	and road material etc. by manual or by		10 (i)	×	
		mechanical transport including loading				
		unloading etc. ( lead for 20 km)	10.00 cum	240.00	p.cum	2400.00
2.	B-142	Providing and applying white cement	-	1		
	12.22	based putty over plastered surface to				
		prepare the surface even and smooth	,	1	2 1 22 g c	
		complete	100.00Sqm	46.00	P.sqm	4600.00
3.	B-132	Repair to stone masonry in cement				
	13.1	sand mortar 1:6 with old and new	30.00sqmt	318.00	p.sqmt	9540.00
	D 110	stones.	,			
4.	B-143	Dismantling of old plaster or skirting	a far a company	- 1 - 1	1 4 1 2 1 2 1 5	1,
	14.54	raking out joints and cleaning the	9 1			
		surface for plaster including disposal of		15 00		1500.00
		rubbish to the dumping ground within 50 meter lead.	100.00 sqm	15.00	p.sqmt	1500.00
5.	B-128	Wall painting with plastic emulsion				
э.	12.67.1	paint of approved brand and		l.		'
	12.07.1	manufacture to give an even shade.		0.00		2
		New work including preparation of		E.		1 1 1
		base with primer putty lippy complete	*, ,	. (	1 .	
		in all respect.	450.00sqm	80.00	p.sqmt	36000.00
6.	B-12	Painting with enamel paint of approved	•		1	
0.	12.68.1	brand and manufacture to give an even	· -		- 1	
	12.06.1	shade. Two or more coats on new	200.00sqmt	69.00	p.sqmt	13600.00
		work.	200.00541111	05.00	p.sqiiit	13000.00
7.		old work (one or more coats) including				
/•		scrapping and priming coat and			1.5	-
		necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00
	_	Treestand Tepanon	1 2 2 2 2 2 2 2 4 1 1	12.00	Total Rs.	81940.00
(	1				Total 172.	01770.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

I/We hereby agreed to completed the above work @ ------ Above /below the "G" Schedule

Date of Date of Period Tender Earnest Money Estimated Receipt Selling Fee 2% Cost

## SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE GANESH JI AND HANUMAN JI VILLAGE JASHAMA, UDAIPUR. (RAJ.)

(Based on P.W.D. B.S.R.2022)

{Based on P.W.D. B.S.R.2022}						
S.	BSR	Particular	Quantity	Rate	Unit	Amount
No 1.	Ref. B-40	Carriage of earth/ building material			72	
1.	5-1-1	and road material etc. by manual or by	-		e "	
		mechanical transport including loading unloading etc. (lead for 20 km)	10.00 cum	240.00	p.cum	2400.00
2.	B-142	Providing and applying white cement based putty over plastered surface to	3	;		
	12.22	prepare the surface even and smooth complete	100.00Sqm	46.00	P.sqm	4600.00
3.	B-132 13.1	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	30.00sqmt	318.00	p.sqmt	9540.00
4.	B-143	Dismantling of old plaster or skirting			w (4.5)	1 *
	14.54	raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	100.00 sqm	15.00	p.sqmt	1500.00
5.	B-128	Wall painting with plastic emulsion paint of approved brand and		8	3	•
	12.67.1	manufacture to give an even shade.	a.	*		
		New work including preparation of	0.14.3	10 Tu		
		base with primer putty lippy complete in all respect.	450.00sqm	80.00	p.sqmt	36000.00
6.	B-12	Painting with enamel paint of approved			-	2.0
11	12.68.1	brand and manufacture to give an even shade. Two or more coats on new	200.00sqmt	69.00	p.sqmt	13600.00
		work. old work (one or more coats) including	a " E			U BY
7.		scrapping and priming coat and		ų.	(I SC %	
	9	necessary repairs.	650.00sqm	22.00	p.sqmt Total Rs.	14300.00 <b>81940.00</b>
					otai Ks.	01740.00

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

I/We hereby agreed to completed the above work @ ------ Above /below the "G" Schedule

Estimated Cost

Earnest Money 2%

Tender Fee

Period

Date of Selling

Date of Receipt

#### SCHEUDLE "G "

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI CHATURBHUJ JI, SADAR BAZAR VILLAGE AKOLA, UDAIPUR. (RAJ.)

		{Ba	sed on P.W.	D. B.S.R.:	2022}	.,
S. No	BSR Ref.	Particular	Quantity	Rate	Unit	Amount
1.	B-40 5-1-1	Carriage of earth/ building material and road material etc. by manual or by mechanical transport including loading unloading etc. (lead for 20 km)		240.00	p.cum	2400.00
2.	B-142 12.22	Providing and applying white cement based putty over plastered surface to prepare the surface even and smooth complete		46.00	P.sqm	4600.00
3.	B-132 13.1	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.		318.00	p.sqmt	9540.00
4.	B-143 14.54	Dismantling of old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	100.00 sqm	15.00	p.sqmt	1500.00
5.	B-128 12.67.1	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	450.00sqm	80.00	p.sqmt	36000.00
6.	B-12 12.68.1	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.	200.00sqmt	69.00	p.sqmt	13600.00
7.		old work (one or more coats) including scrapping and priming coat and necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00
				T	otal Rs.	81940.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

the "G" Schedule

Estimated Cost

Earnest Money 2 1/0

Tender Fee

Period

Date of Selling

Date of Receipt

#### SCHEUDLE "G "

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI LAXMI NARAYAN JI, VILLAGE BHADESHAR, UDAIPUR. (RAJ.)

{Based on P.W.D. B.S.R.:	.2022	022	02
--------------------------	-------	-----	----

	promote	- year to be about	A Service Mark & Conference Service Conference Conferen	lased on P.V.	/.D. B.S.R	.2022}	
	S. No		Particular	Quantity	Rate	Unit	Amount
	1.	B-40 5-1-1	Carriage of earth/ building material and road material etc. by manual or be mechanical transport including loading unloading etc. (lead for 20 km)	v l	240.00	p.cum	2400.00
	2.	B-142 12.22	Providing and applying white cemen based putty over plastered surface to prepare the surface even and smooth complete	1		P.sqm	4600.00
	3.	B-132 13.1	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	30.00sqmt	318.00	p.sqmt	
	4.	B-143 14.54	Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.		15.00	p.sqmt	1500.00
	5.	B-128 12.67.1	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	450.00sqm	80.00	p.sqmt	36000.00
		B-12 12.68.1	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.	200.00sqmt	69.00	p.sqmt	13600.00
7	•		old work (one or more coats) including scrapping and priming coat and necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00
_	>	-				tal Rs.	81940.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

1/We hereby agreed to completed the above work @ ------ Above /below the "G" Schedule

B.S.D

## OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Estimated Earnest Money Tender Period Date of Cost 2% Fee Selling Receipt

#### SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI GULAB SWAROOP BIHARI JI, UDAIPUR. (RAJ.)

{Based on P.W.D. B.S.R.2022}

	{Based on P.W.D. B.S.R.2022}						
S.	BSR	Particular	Quantity	Rate	Unit	Amount	
No	Ref.						
1.	B-40	Carriage of earth/ building material					
	5-1-1	and road material etc. by manual or by		/a.i	4		
		mechanical transport including loading	47	- 40 00	. The second was the	2400.00	
		ameading etc. ( ieua iei ze iiii)	10.00 cum	240.00	p.cum	2400.00	
2.	B-142	Providing and applying white cement		1			
	12.22	based putty over plastered surface to					
		prepare the surface even and smooth	100.000	16.00	D cam	4600.00	
		complete	100.00Sqm	46.00	P.sqm	4000.00	
3.	B-132	Repair to stone masonry in cement	20.00	318.00	p.sqmt	9540.00	
	13.1	sand mortar 1:6 with old and new	30.00sqmt	318.00	p.sqiiit	50 .0.00	
*		stones.		,		Ĭ	
4.	B-143	Dismantling of old plaster or skirting				=	
	14.54	raking out joints and cleaning the					
		surface for plaster including disposal of	100.00 sqm	15.00	p.sqmt	1500.00	
		rubbish to the dumping ground within 50 meter lead.	100.00 34111	13.00	P	* ,	
-	B-128	Wall painting with plastic emulsion	×	1 1 2			
5.	12.67.1	paint of approved brand and					
	12.07.1	manufacture to give an even shade.					
	-	New work including preparation of	E				
		base with primer putty lippy complete					
		in all respect.	450.00sqm	80.00	p.sqmt	36000.00	
6.	B-12	Painting with enamel paint of approved	2				
0.	12.68.1	brand and manufacture to give an even		s (	v = 4	and the	
	12.00.1	shade. Two or more coats on new	200.00sqmt	69.00	p.sqmt	13600.00	
		work.				+	
7.		old work (one or more coats) including		ë	=		
. •		scrapping and priming coat and		Ť z			
		necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00	
	_				Total Rs.	81940.00	

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

5.5 2

# OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Estimated Cost

Earnest Money 2%

Tender Fee Period

Date of Selling

Date of Receipt

### SCHEUDLE "G "

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI SADAR GANESH JI, UDAIPUR. (RAJ.)

{Based on P.W.D. R.S.R. 2022

		{Based on P.W.D. B.S.R.2022}				
S.	BSR	Particular	Quantity	Rate	Unit	Amount
No	Ref.			4		
1.	B-40	Carriage of earth/ building material				
	5-1-1	and road material etc. by manual or by			İ	
		mechanical transport including loading		,		
		unloading etc. ( lead for 20 km)	10.00 cum	240.00	p.cum	2400.00
2.	B-142	Providing and applying white cement				
	12.22	based putty over plastered surface to			* 14	1
		prepare the surface even and smooth		i i	1 1 1	1: \$
		complete	100.00Sqm	46.00	P.sqm	4600.00
3.	B-132	Repair to stone masonry in cement				
	13.1	sand mortar 1:6 with old and new	30.00sqmt	318.00	p.sqmt	9540.00
		stones.			-	
4.	B-143	Dismantling of old plaster or skirting				
	14.54	raking out joints and cleaning the				
		surface for plaster including disposal of	100.00 sqm	15.00	p.sqmt	1500.00
		rubbish to the dumping ground within 50 meter lead.	1,00.00 Sqiii	15.00	p.sqiiit	1300.00
5.	B-128	Wall painting with plastic emulsion				
٥.	12.67.1	paint of approved brand and				
	12.07.1	manufacture to give an even shade.		*		
		New work including preparation of				
		base with primer putty lippy complete			1	
		in all respect.	450.00sqm	80.00	p.sqmt	36000.00
6.	B-12	Painting with enamel paint of approved				
	12.68.1	brand and manufacture to give an even		,		
		shade. Two or more coats on new	200.00sqmt	69.00	p.sqmt	13600.00
		work.				n = 1 , <del>,</del>
7.		old work (one or more coats) including				<i>z</i>
		scrapping and priming coat and	650.00	22.00		
		necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00
Total Rs. 819					81940.00	

Assistant Engineer Devasthan, Udaipur Assistant commissioner Devasthan, Udaipur.

I/We hereby agreed to completed the above work @ -----the "G" Schedule

-----% Above/below

Date of Estimated Tender Period Date of Earnest Money Receipt Selling 2% Fee Cost

#### SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI LAXMI NARAYAN JI, UDAIPUR. (RAJ.)

{Rased on P.W.D. B.S.R.2022}

				{Base	ed on P.W.D.	D.S.IV.2		1
	D	SR	Part	icular	Quantity	Rate	Unit	Amount
S.			lait	leulai				
No		ef.		: of conth/ building material	,			1
1.		-40	Carr	riage of earth/ building material				11 gr % 6
	5	-1-1	and	road material etc. by manual or by				
			med	chanical transport including loading	10.00 cum	240.00	p.cum	2400.00
			unle	oading etc. ( lead for 20 km)	10.00 Cum	210.00		
2.	1	3-142	Pro	viding and applying white cement				Ž.
1-		12.22	has	sed putty over plastered surface to				
			pre	epare the surface even and smooth	100 005am	46.00	P.sqm	4600.00
	1		CO	mplete	100.00Sqm	40.00	7.42	767
3	1	B-132	Re	enair to stone masonry in cement	20.00	318.00	p.sqmt	9540.00
	.	13.1	sa	nd mortar 1:6 with old and new	30.00sqmt	510.00	P	
			ct	ones				6
	1.	B-143	D	ismantling of old plaster or skirting				
1-	т.	14.54	1	alsing out joints and cleaning the	1			
			1 0	urface for plaster including disposal of		15.00	p.sqmt	1500.00
1			r	ubbish to the dumping ground within	100.00 3411	10,00		
1			ء ا	: 0 mater lead			11 + C 2	,
ţ	5.	B-12	8 '	Wall painting with plastic emulsion				
		12.67	7.1					
	\			manufacture to give an even shade.				
		1		New work including preparation of				
		1		base with primer putty lippy complete	450.00sqm	80.00	p.sqmt	36000.00
			1	in all respect.				
	6	B-1	2	Painting with enamel paint of approved				, 9.6.x
		12.0	58.1	brand and manufacture to give an ever	v 200.00sqmt	69.00	p.sqmt	13600.00
				shade. Two or more coats on new	200.0054			- 2 8 8
				work.	σ			
		7.		old work (one or more coats) including	d	1		
				scrapping and priming	650.00sqm	22.00	p.sqmt	14300.00
	-			necessary repairs.			Total Rs.	81940.00

Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

1/We hereby agreed to completed the above work @ ------ Above /below the "G" Schedule

Estimated Cost

COMMISSIONER, DEVASTHAN, UDAIPUR, Earnest Money 2%

Tender Fee

Period

Date of Selling

Date of Receipt

## SCHEUDLE "G "

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI UDAI SHYAM UDAI SAGAR,

<b>5.</b>	BSR	Particular {Ba	sed on P.W.	D. B.S.R.	2022}	
40	Ref.		Quantity	Rate	Unit	Amoun
	B-40	Carriage of earth/building material				
	5-1-1	and road material etc. by manual or be-	1			
		mechanical transport including loading				
		unroading etc. ( lead for 20 km)	10.00	240.00		2400
2.	B-142	Providing and applying white cement		240.00	p.cum	2400.0
	12.22	based putty over plastered surface to				
		prepare the surface even and smooth		1		. 5
3.	B-132	complete	100.00Sqm	46.00	P.sqm	4600.0
٥.	13.1	Repair to stone masonry in cement	,			
	15.1	sand mortar 1:6 with old and new stones.	30.00sqmt	318.00	p.sqmt	9540.00
4.	B-143	Dismantling of old plaster or skirting			-	
	14.54	,raking out joints and cleaning the				
		surface for plaster including disposal of		Ē.		
	=	rubbish to the dumping ground within	100.00 sqm	15.00	p.sqmt	1500.00
_	B-128	50 meter lead.  Wall painting with plastic emulsion				
5.	12.67.1	paint of approved brand and				
	12.07.1	manufacture to give an even shade.				
		New work including preparation of				
		base with primer putty lippy complete				
		in all respect.	450.00sqm	80.00	p.sqmt	36000.00
6.	B-12	Painting with enamel paint of approved		-		
	12.68.1	brand and manufacture to give an even shade. Two or more coats on new	200 000000	60.00	, ,	
		work.	200.00sqmt	69.00	p.sqmt	13600.00
7.		old work (one or more coats) including				
'		scrapping and priming coat and				
		necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00
				Т	otal Rs.	81940.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

I/We hereby agreed to completed the above work @ ---------% Above/below the "G" Schedule

Estimated Cost

**Earnest Money** 2%

Tender Fee

Period

Date of Selling

Date of Receipt

## SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI NAI MATA JI, VILLAGE NAI, UDAIPUR. (RAJ.)

S.	BSR	Particular {Based on P.W.D. B.S.R.2022}				
		rarucular	Quantity	Rate	Unit	Amount
No	Ref.					
1.	B-40	Carriage of earth/ building material				
	5-1-1	and road material etc. by manual or by			-	
		mechanical transport including loading				1)
		unloading etc. ( lead for 20 km)	10.00 cum	240.00	p.cum	2400.00
2.	B-142	Providing and applying white cement				
	12.22	based putty over plastered surface to				1
		prepare the surface even and smooth		!		4600.00
		complete	100.00Sqm	46.00	P.sqm	4600.00
3.	B-132	Repair to stone masonry in cement		210.00		9540.00
	13.1	sand mortar 1:6 with old and new	30.00sqmt	318.00	p.sqmt	9340.00
		stones.				
4.	B-143	Dismantling of old plaster or skirting				
	14.54	, raking out joints and cleaning the				,
		surface for plaster including disposal of	100.00 sqm	15.00	p.sqmt	1500.00
· ·		rubbish to the dumping ground within	100.00 34111	13.00	Pictor	1,1,
	D 100	50 meter lead.  Wall painting with plastic emulsion				
5.	B-128	paint of approved brand and				
	12.67.1	manufacture to give an even shade.				-
		New work including preparation of		,		
		base with primer putty lippy complete			,	2 (000 00
		in all respect.	450.00sqm	80.00	p.sqmt	36000.00
6.	B-12	Painting with enamel paint of approved		1		
0.	12.68.1	brand and manufacture to give an even				12 (00 00
	12.00.1	shade. Two or more coats on new	200.00sqmt	69.00	p.sqmt	13600.00
		work.		-		in the second se
7.		old work (one or more coats) including				2
		scrapping and priming coat and	(50 00aau	22.00	m aamst	14200 00
		necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00
				1	otal Rs.	81940.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

I/We hereby agreed to completed the above work @ ------ Above /below the "G" Schedule

5.5,6

# OFFICE OF THE ASSISTNAT COMMISSIONER, DEVASTHAN, UDAIPUR,

Estimated Cost

Earnest Money 2%

Tender Fee

Period

Date of Selling

Date of Receipt

### SCHEUDLE "G "

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI TEJA NAND BIHARI JI, SULAMBAR, UDAIPUR. (RAJ.)

{Based on P.W.D. B.S.R.2022}

S.	BSR	Based on P.W.D. B.S.R.2022}				
	1	Particular	<b>Quantity</b>	Rate	Unit	Amount
No	Ref.					
1.	B-40	Carriage of earth/building materia	ıl			
	5-1-1	and road material etc. by manual or b	у			
		mechanical transport including loading	g			
		unloading etc. (lead for 20 km)	10.00 cum	240.00	p.cum	2400.00
2.	B-142	Providing and applying white cemen				
	12.22	based putty over plastered surface to		1		£1
		prepare the surface even and smooth				1.500.00
		complete	100.00Sqm	46.00	P.sqm	4600.00
3.	B-132	Repair to stone masonry in cement	1			0.540.00
5	13.1	sand mortar 1:6 with old and new	30.00sqmt	318.00	p.sqmt	9540.00
		stones.				1
4.	B-143	Dismantling of old plaster or skirting		1		
	14.54	raking out joints and cleaning the				
		surface for plaster including disposal of		15.00		1500.00
		rubbish to the dumping ground within	100.00 sqm	15.00	p.sqmt	1500.00
		50 meter lead.				
5.	B-128	Wall painting with plastic emulsion				
	12.67.1	paint of approved brand and	*			-
		manufacture to give an even shade.		*		
		New work including preparation of				
		base with primer putty lippy complete	150 00ggm	90.00		26000 00
		in all respect.	450.00sqm	80.00	p.sqmt	36000.00
6.	B-12	Painting with enamel paint of approved				
	12.68.1	brand and manufacture to give an even			1 markets	September 1
		shade. Two or more coats on new	200.00sqmt	69.00	p.sqmt	13600.00
		work.				
7.		old work (one or more coats) including			-	
		scrapping and priming coat and				
		necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00
	<u>\</u> _			Te	otal Rs.	81940.00

Assistant Engineer
Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.

I/We hereby agreed to completed the above work @ ------ Above /below the "G" Schedule

Estimated Earnest Money Tender Period Date of Cost Pee Selling Receipt

#### **SCHEUDLE "G"**

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI SHITALA MATA JI, VALLABHNAGAR, UDAIPUR. (RAJ.)

{Based on P.W.D. B.S.R.2022}

		Based on P. W.D. B.S.R.2022				
S.	BSR	Particular	Quantity	Rate	Unit	Amount
No	Ref.					
1.	B-40	Carriage of earth/ building material			7 y x	
	5-1-1	and road material etc. by manual or by	1			
		mechanical transport including loading		240.00	p.cum	2400.00
		unloading etc. ( lead for 20 km)	10.00 cum	240.00	p.cum	2.00
2.	B-142	Providing and applying white cement				
	12.22	based putty over plastered surface to			4 (*)	F L
		prepare the surface even and smooth	1	46.00	P.sqm	4600.00
		complete	100.00Sqm	40.00	1 .54.22	,
3.	B-132	Repair to stone masonry in cement	20.00 amt	318.00	p.sqmt	9540.00
٥.	13.1	sand mortar 1:6 with old and new	30.00sqmt	310.00	F	
		stones.				
4.	B-143	Dismantling of old plaster or skirting				_
•	14.54	raking out joints and cleaning the				
		surface for plaster including disposal of	100.00 sqm	15.00	p.sqmt	1500.00
		rubbish to the dumping ground within				
		50 meter lead.  Wall painting with plastic emulsion				
5.	B-128	Wall painting with plastic characteristics of approved brand and				
	12.67.1	paint of approve				
		North including preparation of paration of			A	
		base with primer putty lippy complete		00.00		36000.00
		in all respect.	450.00sqm	80.00	p.sqmt	30000.00
		Painting with enamel paint of approved				
6.	B-12	and manufacture to give all even				12600.00
	12.68.1	shade. Two or more coats on new	200.00sqmt	69.00	p.sqmt	13600.00
		work				ξ, −
7		old work (one or more coats) including			- *	E ===
7.		scrapping and priming coat and		22.00		14200 00
		necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00
				$\mathbf{T}$	otal Rs.	81940.00

Assistant Engineer Devasthan, Udaipur

Assistant Commissioner Devasthan, Udaipur.



Estimated Cost

Earnest Money 2%

Tender Fee

Period

Date of Selling

Date of Receipt

### SCHEUDLE "G "

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI CHATURBHUJ JI, JI, VALLABHNAGAR, UDAIPUR. (RAJ.)

(Rased on P.W.D. B.S.R.2022)

		{Based on P.W.D. B.S.R.2022}				
S.	BSR	Particular	Quantity		Unit	Amount
No	Ref.					
1.	B-40	Carriage of earth/ building materia	al			
	5-1-1	and road material etc. by manual or b	у			
		mechanical transport including loading	g	240.00	p.cum	2400.00
		unloading etc. (lead for 20 km)	10.00 cum	240.00	p.cu	
2.	B-142	Providing and applying white cemen	t			
	12.22	based putty over plastered surface to				
		prepare the surface even and smooth	100.00Sqm	46.00	P.sqm	4600.00
		complete		10.00		
3.	B-132	Dangir to stone masonry in cement	30.00sqmt	318.00	p.sqmt	9540.00
٠.	13.1	sand mortar 1:6 with old and new	30.0034			
		4-20				-
4.	B-143	Dismantling of old plaster or skirting				
7.	14.54	raking out joints and cleaning the				1500.00
			100.00 sqm	15.00	p.sqmt	1500.00
inina.		rubbish to the dumping ground within				
		50 meter lead.  Wall painting with plastic emulsion				
5.	B-128	wan proved brand and				
	12.67.1	paint of approved an even shade.			and being	S Agenda 1
	e de la composición					
		New work including propulate base with primer putty lippy complete	450.00cam	80.00	p.sqmt	36000.00
		in all respect.	450.00sqm	00.00	F	
6.	B-12	i i monutacilire lo give un circi	200.00	69.00	p.sqmt	13600.00
	12.68.1	shade. Two or more coats on new	200.00sqmt	09.00	p.sqt	
	1	•	Sec.			
6		old work (one or more coats) including				-
7.		and priming coat and	(50 00sam	22.00	p.sqmt	14300.00
		necessary repairs.	650.00sqm		otal Rs.	81940.00
			- 33			

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Udaipur.

1/We hereby agreed to completed the above work @ ----- Above /below the "G" Schedule

# Compliance with the code of integrity and No Confict of Interest

Any person participating in a procurement process shall- Not offer any bribe, reward or gift or any material benefit either directly or indirectly in exchange for an unfair advantage in procurement process or to otherwise influence the procurement process; Not misrepresent or omit that misleads or attempts to mislead so as to obtain a financial or other benefit or avoid an obligation; Not indulge in any collusion, Bid rigging or anti-competitive behavior to impair the transparency, fairness and progress of the procurement process; Not misuse any information shared between the procuring Entity and the Bidders with an intent to gain unfair advantage in the procurement process; Not indulge in any coercion including impairing or harming or threatening to do the same, directly or indirectly, to any party or to its property to influence the procurement process; Not obstruct any investigation or audit of a procurement process;

Disclose conflict of interest. If any and Disclose any previous transgressions with any Entity in india or any other country during the last three years or any debarment by any other procuring entity.

#### Conflict of interest:-

The bidder participating in a bidding process must not have a conflict of interest. A conflict of interest is considered to be a situation in which a party has interests that could improperly influence that party's performance of official duties or responsibilities, contractual obligations, or compliance with application laws and regulations. A Bidder may be considered to be in Conflict of interest with one or more parties in a bidding process if, including but not limited to: Have controlling partners/shareholders in common; or Receive or have received any direct or indirect subsidy from any of them; or Have the same legal representative for purpose of the Bid; or Have a relationship with each other, directly or through common third parties, that puts them in a position to have access to information about or influence on the Bid of another Bidder, or influence the decisions of the Procuring Entity regarding the Bidding Process: or The Bidder participates in more than one Bid in a bidding process. Participation by a Bidder in more than one Bid will result in the disqualification of all Bids in which the Bidder is involved. However, this does not limit the inclusion of the same subcontractor, not otherwise participation as a bidder, in more than one Bid; or The Bidder or any or its affiliates participated as a consultant in the preparation of the design or technical specifications of the Goods, Works or Services that are the subject of the Bid; or Bidder or any of its affiliates has been hired (or is proposed to be hired) by the procuring Entity as engineer-in-charge/ consultant for the contract.

Date: Place:

Signature of bidder Name: Designation:

Address:

Annexure B:

Declaration by the Bidder regarding Qualifications Declaration by the Bidder

Declaration by the Bidder regarding Quant	a in
	for procurement of
In relation to my/our Bid submitted to	
In relation to my/our Bid submitted to	Act 2012 that:
1001/0110V to the	ant ACT /III / IIIqi

I/we hereby declare under Section 7 of Rajasthan Transparency in Public Procurement Act, 2012, that:

I/we possess the necessary professional, technical, financial and managerial resources and competence required by the Bidding Document issued by the Procuring Entity;

I/we have fullfilled my/our obligation to pay such of the taxes payable to the Union and the state Government or any local authority as specified in th Bidding Document:

I/we are not insolvent, in receivership, bankrupt or being wound up, not have my/our affairs administered by a court or a judicial officer, not have my/our business activities suspended and not the subject of legal proceedings for any of the foregoing reasons:

I/we do not have, and our directors and officers not have, been convicted of any criminal offence related to my/our professional conduct or the making of false statement or misreprentations as to my/our qualifications to enter into a procurement contract within a period of three years preceding the commencement of this procurement process, or not have been otherwise disqualified pursuant to debarment proceedings;

I/we do not have a conflict of interest as specified in the Act, Rules and the Bidding Document, which materially affects fair competition;

my /

Date: Place:

Signature of bidder

Name:

Designation:

Address:

# Grievance Redressal during Procurement Process

The designation and address of the First Appellate Authority is Commissioner Devasthan Department Udaipur.

The designation and address of the Second Appellate Authority is additional Secratory. Devasthan Department, Secretariate Rajasthan, Jaipur

Filling an appeal:- If any Bidder or prospective bidderis aggrieved that any decision, action or omission of the Procuring Entity is in Contravention to the provisions of the Act or the Rules or the Guidelines issued thereunder, he may file an appeal to first appellate Authority, as specified in the Bidding Document within a period of ten days from the date of such decision or action, omission, as the case may be, clearly giving the specific ground or grounds on which he feels aggrieved:

Provided that after the declaration of a Bidder as successful the appeal may be filed only by a Bidder who has participated in procurement proceedings. Provided further that in case a Procuring Entity evaluates the Technical Bids before the opening of the Financial Bids, an appeal related to the matter of Financial Bids may be filed only by a Bidder whose Technical Bid is found to be acceptable. The officer to whom an appeal is filed under para (1) shall deal with the appeal as expenditiously as possible and shall endeavour to dispose it of within thirty days from the date of the appeal.

If the officer designated under para (1) fails to dispose of the appeal filed within the period specified in para (2), or if the Bidder or prospective bidder or the Procuring Entity is aggrieved by the order passed by the First Appellate Authority, the Bidder or Prospective bidder or the Procuring Entity, as the case may be, may file a second appeal to Second Appellate Authority specified in the Bidding Document in this behalf within fifteen days from the expiry of the period specified in para (2) or of the date of receipt of the ordre passed by the First Appellate Authority, as the case may be.

Appeal not to lie in certain cases

No appeal shall lie against any decision of the Procuring Entity relating to the following matters, namely:- Determination of need of procurement Provisions limiting participation of Bidders in the Bid process. The decision of whether or not to enter into negotiations. Cancellation of a procurement process. Applicability of the provisions of confidentiality.

Form of Appeal:- An appeal under para (1) or (3) above shall be in the annexed Form along with as many copies as there are respondents in the appeal. Every appeal shall be accompanied by an order appealed against. If any, affidavit verifying the facts stated in the appeal and proof of payment of fee. Every appeal may be presented to First Appellate Authority or Second appellate Authority, as the case may be, in person or through registered post or authorised representative.

Fee for filing appeal:- Fee for first appeal shall be rupees two thousand five hundred and for second appeal shall be rupees ten thousand. Which shall be non-refundable. The fee shall be paid in the form of bank demand draft or banker's cheque of a sheduled Bank in India payable in the name of Appellate Authority concerned.

Procedure for disposal of appeal:- The First Appellate Authority or Second Appellate Authority, as the case may be, upon filing of appeal, shall issue notice accompanied by copy of appeal, affidavit and documents, if any, to the respondents and fix date of hearing. On the date fixed for hearing, the First Appellate Authority or Second Appellate Authority, as the case may be, shall:-

(i) hear all the parties to appeal present before him: and

(ii) peruse of inspect documents, relevent records or copies thereof relating to the matter.

After hearing the parties, perusal or inspection of documents and relevant records or copies there of relating to the matter, the Appellate Authority concerned shall pass an order in writing and provide the copy of order to the parties to appeal free of cost.

The order passed under sub-clause (c) above shall also be placed on the State Public Procurement Portal.



Form No. 1
(See rule 83)

Memorandum of Appeal under the Rajasthan Transparency in Public Procurement Act, 2012

	Memorana
	of
	Appeal No
	Before
	Particulars of appellant:
	(i) Name of the appellant: (ii) Official address, if any:
	(ii) Residential address:
	(III) Residential address.
	Name and address of the respondent (s):
	(i)
	(ii)
	(iii)
	Number and date of the order appealed against and name and designation of the officer/authority who passed the order (enclose copy), or a statement of a decision, action or omission of the Procuring Entity in
	If the Appellant proposes to be represented by a representative, the name and postal address of the
	representative:
	Number of affidavits and documents enclosed with the appeal  Grounds of appeal
	(Compated by an affidavit)
	(Suppoted by an affidavit)
	Prayer(Suppoted by an arridavit)
	Prayer
۱ /	
X	Place
	Date
	Appellant's Signature

## Additional Conditions of Contract

Provided that a Financial Bid is substantially responsive, the Procuring Entity will correct Correction of arithmetical errors arithmetical errors during evaluation of Financial Bids on the following If these is a discrepancy between the unit price and the total price that is obtained by multiplying the unit price and quantity, the unit price shall prevail and the total price shall be corrected, unless in the opinion of the Procuring Entity there is an obvious misplacement of the decimal point in the unit price. In which case the total price as quoted shall govern and the unit price shall be corrected. If there is an error in a total corresponding to the addition or subtraction of subtotals. The subtotals shall prevail and total shall be corrected: and If there is a discrepancy between words and figures, the amount in words shall prevail, unless the amount expressed in words is related to an arithmetic error, in which case the amount in figures shall prevail subject to (i) and (ii) above. If the Bidder that submitted the lowest evaluated Bid does not accept the correction of errors.Its Bid shall be disqualified and its Bid Security shall be forfeited or its Bid securing Decleration shall be executed.

(i) At the time of award of contact, the quality of Goods, Works or services originally specified in the bidding Document may be increased or decreased by a specified percentage, but such increase or decrease shall not exceed twenty percent. Of the quantity specified in the Bidding Document. It shall be without any change in the unit prices or other terms and conditions of the Bid and the conditions of contract.

(ii) if the procuring Entity does not procure any subject matter of procurement or procures less than the quantity specified in the Bidding Document due to change in circumstances, the Bidder shall not be

entitled for any claim or compensation except otherwise provided in the conditions of Contract.

(iii) In case of procurement of Goods or services, additional quantity may be procured by placing a repeat order on the rates and conditions of the original order. However, the additional quantity shall not be more than 50% of the value of Goods of the original contract and shall be within one month from the date of expiry of last

Dividing quantities among more than one Bidder at the time of award (In case of procurement of

As a general rule all the quantities of the subject matter of procurement shall be procured from the bidder. Goods) Whose Bid is accepted. However, when it is considered that the quantity of the subject matter of procurement to be procured is very large and it may not be in the capacity of the Bidder, whose Bid is accepted, to deliver the entity quantity or when it is considered that the subject matter or procurement to be procured is of critical and vital nature, in such cases the quantity may be divided between the Bidder, whose bid is accepted and the second lowest Bidder or even more manner at the rates of the Bidder, whose Bid is accepted.

Date:

Place:

Signature of bidder

Name:

Designation:

Address: